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1. FER A enfdE SEien e SuraT Sew e HIE! HareETdE TaauE 91 ST9i wiver
ST HEeaTs WY 38 2
(a) WX e
(b) T T FH
(c) Togum
(d) =& FEIR
et wivR/ s faum/ et sng/a ?
(1) (o) S () Fo (2)  (b) ST (d) P
3) (%K - @) (), () =t (d) T
As per the Kothari Committee which elements are importantlfor economical growth in
human resource investment ?
(a}) Enough Capital |
(b} Technical Knowledge and Skills
{c) Education
. (d) Capable worker group
Which of the statements given above is/are correct ?
(1) (a8} and {c) only (2) (b} and (d) only
(3) (c)only (4) (a), (c) and (d) only
2, W{ﬁu&gﬁa ¥ U FTHA (2013) FHata, mmmm@mwmm

sfavfa s yaer S o SR 7
(1) 40%-60%  (2) 75%-50%  (3) 50%-50% (&) 70%-40%

What proportion of rural-urban population in India, does the Naﬁona] Food Secunty Act
{2013) try to cover respectively ?

1) 40% - 60% (2)  75% - 50% (B) 50%-50% (&) 70% - 40%
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3. ETefe Mo s SRR T W |
(a) ﬁz%sma%gam
(b) & glafia SR T, W@ﬁwuomuﬁﬁsﬁaﬂ% mmmra“raﬁ
(¢) @ aeltor anfon vt i SR,
(d) T geT e qeui s firese 20 ¢ o,

ayidft wt _
(1)  <heq et AR AT ) we AR A
(3)  awyrT AR A (4) W&mw@m

Identify the scheme which has the foiiowmg characteristics ;
(a) It was launched in 1993,

{(b) Itis meant for educated unemployed youth with famﬁy mcome of upto ¥ 40,000 per -
annum.

{¢) Ttisfor rural as well as urban areas. - .

{d) It's main objective is to make self - empioyment opportﬁmtzes avaﬁable to youth.

Answer options ! : ' : -

(1) Indira Gandhi Rozgar Yo;ana {(2) Samagra Rozgar Yojana

o (3)" Prime Mirister’s Rozgar Yojana ' (4) TJawahar Gram Sararidhi Yojana

. géaa‘mférszﬁaﬁmm wm?
(a) Hem HEiTa T e At 2009«1{}3%1’1‘ gaw 311'@’?
() e ] A AT &mmmﬁrmaﬁm am%ﬁmfafq‘éw%
it I
(1) ¥ () @ %= (b) @ @ wwhm
" Which one of the foiiowmg two statements is correct 7 : _
(a) The scheme of Iz_x’r_egrateci Education for the Dzsabled children was iaunched in the.

year 2009-10.

(&) The scgeiﬁe in vogue provzdes assistance for the inclusive education to the disabled 5
children in classes 1-VIII

Answer options : : : : _

{1} Only (a) (2) Only (b) (3) Both ' (4) - Neither
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5. WWWWWWWMM%WW
fresg ?
(a) wriE ity dwie= srareder weeT
) a-dueia s sufr st sreredatier S o el stweesTEo weHeh wrld
) Mmmmﬁmmﬁ@wmaﬁ%mwmaﬁw

QT B HEHHE B0,

(@) o SR T I T FAEet
1) (2 %= @ @O @) GFR @ (), () ()
WHO supports countries in strengthening their capacities for organising ar:d condnctmg

(a) Epidemic and communicable diseases system research

(b} Bio-medical behavioural and health system research related to the 1mpiementatmn
..of their strategies .

(¢} Cooperating with developed countries mth a view to reshaping theu‘ public health
research and other related training institutions as necessary '

~ {d) Extensive research on indigenous health care sy‘stems,
YU WHiCK of the statemént/s is/are correct 7

1 @ OHEY (2) (@), (b) and (@ @) () OHIY ) (b)y (C} and (d)

6. WWW%WWWMWW%W%WWW
sy e she ydots) SoEt eRa?
(a) Waﬁmmaﬁm1mwwqﬂﬂwm
(b) mﬂazwcua%moooﬂﬁﬁww
{c) Wwazﬁwﬂawm

'.'. : . i F aﬁ‘
B @I (2) @3
OB OEIC) - ) (), ®)3 @)

Under the National Health Mission select the precise Health Outcome Goals estabhshed
inthe 12tk Five Year Plan to be achieved by 2017 out of the foiiowmg

(8) Reduction of Infant Mortality Rate to 25 per thousand five births.
(b)  Reduction in Maternal Mortality Rate to 100 per 1{}{} 000 iwe bzrths
() Reduction in Total Fer’ahty Rate to 2.0.
Answer options :
(1) (a) and (b) (2) (@ and (©
3 (b)and (0 | @) (@) () and @
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7. e cofde Y e ETe e S s wr ae s dai e A
TR FROAEET e o Syt <o enfor wier e w1 w0 Tt a7
(1) . T TRe A (JSY) @) oS T SRR REE (NRHM)

(3)  wd e R (SSA) (4) WY (AYUSH)

As a part of strategy which of the following health programmes has to train and enhance
capacity of Panchayati Raj Institutions to supervise and manage public health services :

(1) Jjanani Suraksha Yojana {J5Y) (2) National Rural Health Mission (NRHM)
(3} Sarva Swastha Abhiyan (55A) (4) AYUSH

8. EEfierT v JEEl Sl AT YA Ao WrElen SR S w9 (Universal
~ Health Coverage) T e T,
C (1) Bais WER (2)- T B SUGTS wE WS STRA d
(3) oTen QEierEd! smEvEs qEuR faet (4)  da e e

Which one of the issues given below is not incladed by the World Health Organisation in
the framework for Universal Health Coverage ?

{1) Kind of services . {2y Whom the servicés are to be provided

(3) Funding required for such services (4) Who will provide the services

9, G SRS SUden i TEE W 1987 4l 139%%‘(%%%@@%%@1 pi
WUUGR Wreieryet s e afuey e ?

() - veler AR FH Hoardrd e s A A
(2) T wE & sfavarEnE) get

(3) arr el frRfvarE T v FE S

(4) whewd

- In 1987, recognizing the human health hazard, 139 countries signed the Montreal Protocol.
Which of the following did the protocol establish 7'

{1) A time fable for the reduction or elimination of Ozone depleting substances
('“"!(2) Efforts towards generation of no-smok zones

(3) Ban on the use of preservatives in food

(4)  All of the above
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10. fogR, ofvam sme ot g8 36 oV W TUHE STesUIR IR FIVRIT HEETHa
TEHE! ?
() Sfrar daf
(b) e Sa

(c) U YER HONd ARl gEeas
(d) feaamrsn S YHERGA

e HIv /o faur/ 3 atET /a2
1) (&) &R () (a) 3T (b) e
(3) (o % @ (@), () s (d)

The ‘Kala ~ Azar’ which exists in Bihar, West Bengal and Eastern U.P. is transmitted
through the :

(a) brucellosis

(b) guineaworm

{c) biteofasand fly

{d) black water fever

Which of the statements given above is/are correct 7

e e e ortheh i 88 A e ey ) e W e e e eedede

(1) (a) only (2) (a) and (b) only
() (©only (4)  (2) (c) and (d)
11, e 9 faurilel wioR esrEg eng ?

(a) U iye frgrer FHEwITET GEER 1996 WS W,
(b) W1 FEEAME ¥ BT 2020 VEG HUE 0.3% AT STUTEATS 3T HE,
ugiE Iy

1) ¥ (a) 2 F&® (b) @) (4) uwd T

~ Which one of the following two statements is incorrect ?

{a) National Programme for control of Blindness (NPCB) was launched in the year
1996.

{b} The goal of the programmne is to reduce the prevalence of blindness to 0.3% by 2020.
Answer options :

{1} Only (a) {2} Only (b) {3} Both (4) Neither
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12.

8 A
e FHmol fasiarer wefeds S T e R ?
(2) @ fagia 9r qem wa=aTen STYR SHe oy wa),
(by ® fagia ¥ 99 wom T SR gAY fog s
() EHEFUTIRE TASTHER SR ST TRt w1 STeesd.
@) @ fagia gumsren snftls fammmear confat SRS SR,

wftfrsﬂ"t:
(1) (&) & (c) (2) (a) oo (d)
3) W (b) W () 4 (a), (c) o1 (d)

As per the Demographic Transition Theory, which of the following propositions are
true ?

(a) The theory is based on four successive stages of transition.

(b} The theory is based only on three successive stages of transition.

{c} Post transitional societies are characterised by low birth and death rates.
{d} The theory is based on the stages of economic developiment of society.
Answer options :

(1) {a)and () (2) (@) and (d)

(3) Only (b)and (c) @ (@) (©)and (d)

13.

1919 Grefl T wee sifawrsig S e (ILO) 9 fady iy ammwmﬁ
Wveres gatar aurE A foean o srrgearde 99 wew TR e

(1) Freird, gfe 48 safr snem

(2) ererer wfirdt, gfaa A suftn wreR

(3) WK, T ug e g 3

(4) utER, FrE e s

The International Labour Organisation (ILO), which was founded in 1919, has a umque
tripartite structure which provides equal justice to all. The three members of the desagn
are :

(1) Employers, Union leaders and workers
(2) Management, Union leaders and workers
{3y Government, Political Parties and Union leaders

(4) Government, employers and workers
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T e it s e+




A 9 MO6
14.  yETen SR feare amitar waem € nfeenanst sifus srga sl dre weee 9 e
(1) TEHI HEERE A T geran smaR wiEe s ol d dee g #1,
(2) et few ol sreriaTst Flagr a1 g ITasy el S
(3)  arterren Wearamrgd g fo i, sigmren o 3 Ssgi wmTE syersa s el W,
(@) wde wd
It is said that MGNREGA is more women friendly than the previous labour welfare
interventions because :
(1} It prescribes that at least a third of all workers be wornen.
(2) It makes provisions or facilities such as childcare at the worksites.
{3) It provides work within five kilometres of an applicant’s residence.
{4) All of the above.
15.  rite wivt andior et derter sy, Swd wd atas) o Seafan @ om @ g
- YA TSR] R T SIS STRa 7
(1) onfeam T/&
(2) oW 9 ¥R aende T
(3)  60% a1 wrgT sift o ife WaY srERie T
@) o e T
Rajiv Gandhi Grameen Vidutikaran Yojana aims to cover electrification of all the villages
in the country. Which villages given below have been excluded from its scope ?
(1) Tribal villages
{2y Villages in remote and hilly areas
{3} Villages in which 60% or more population is above the poverty line
(4) None of the above
16. G2 faamits! wivR 9 R ?

(a) vRdH FfaurR wer-21, A fawmnl wefw o
(b) IRAY WA 42 S SEARERIMER Feabtee 9 dEue e gued gl

Ao A,
m'a'i'ﬁ‘ :
(1) FS (a) 2) % (b) @) @& (4) THE A

Which one of the following statements is correct ?
(a) Article 21 of the Constitution of India deals with human development

(b) The 42 Amendment to the Constitution of India included Family Planning and
Population Control Programme in the concurrent list.

Answer options :
{1} Only {(a) {2} Only (b) {3) Both {4) Neither
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17.  urdta arefor gadiore sfer qadys Jorid werel A, areyla Ay S yer,
‘Af B

(a) e wfad (1975) () TR TAETS A

(by e Wi (1971) () &g s wet snfor sl S A

() fdgeq wfhdr (1991) i) Teramiva wveior et e

(d) F UG EET |G (1989) Gv) Tachr o= guwers= yeam

vt 6 : |

@ (k) © @
@ 6 @ (v)
(2) v () O @
@ @ @ @ @
@ @ @ & 0

Following are some of the major landmarks in the history of the evolution of Indias rural
credit policy. Match the following : S '

A'AI . - 1‘8)‘

(a)} Narasimham Committee (1975) (i}  Formulation of new credit policy

(b} Nariman Committee (1971) (i) Priority Sector lending and lead
Bank scheme

{c) Narasimham Committee (1991) ' (i) Setting up of regional rural
banks

(d) Agriculture Credit Review Committee (1989) (iv) Introduced financial sector
reforms

Answer options :

@ & @ @
O @ @ @) (v
(2 (v G 6 6
Gy ) Gv)y @)
@ (@) @ W @
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18. . s geutd guer T @ .

(1) sy wriEn gt Pie gt wgT

(2) T~ Pt SO A ST G BENTIRE SR FRIEAAT S

(3) ImEErg 3O Frey e st gafseren datn Al

(4) smEreEn Wewig frofe e @ weww dvar wmed anfr A e gERvaren
Sisheld Wkl TR SO,

In terms of health ‘Community Participation’ means the :

(1} participation of all aduit members in the implementation of health programme,

(2) ability to understand the self health condition and respond to the health programmes
through active participation,

(3) people respond to the services which are pianned and implemented by the
government machinery,

{4) ability to make informed health decisions and bg an active participant in improving
one’s own health

19. SR SR HEATER (WHO) *SIlis ' 41 Sresrel oameT
(1) wriRe enfty qrFfyes greiat QUi o w1,
(2) WO S e SHER AN S
(3) FaEg sl ffen i WE TR W gl wif, WWWWM
(@) ool wrifes, Al wrey stf sl s1vm,
According to World Health Organisation, ‘Health” is defined as :
(1) Overcoming physical and psychological problems completely.
{2) = Having the appropriate weight in proportion with one’s height.
{3} State of complete physical, mental and socmi well being and not mereiy the absence
of a disease or infirmity.
{4) State of complete physical and mentai wellbeing and absence of disease.
20, i EF iR R @ ¥ ?

{a) &mmwﬁﬁms&aﬁm%wsm@@%ﬁa@m%@ﬁé
(b)  YHR 1400 TEWH 1961 Heh e Heafrier vreafwen fofawm weatean s S,

T e

(1) B (a) @) %@ (b) @ = (4) TR AR
Which one of the following two statements is correct ?

(@) The first male operative family planning camp was organised in Pune in 1961.
(b} Around 1400 males got operated in the first family planning camp in 1961.

Answer options :
(1) Only {a} {2y Only (b) (3)" Both (4) Neither
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o Wmﬁwﬁﬁm?ﬁwmp

- ufeeh yrdl wewEn Thue aeifi TR 89 wedt faadiee W ﬁ"iﬁ‘ﬁﬁ

1936 W&l “Rfaer e,
(®) awﬁﬁmﬁwmmsﬂﬂm mwmﬁ
(DWW) m%mw @) T - 4 wwRTE

Which one of the following two statements is correct ?

T (a) The credit of organising the first conference on populatwn goes to the Lucknow
University. The conference was organised in 1936. : :

{b) It was Gyanchand who wrote a book titled ‘Indias Teenung Millions’.
Answer options : ’ L o
(1) Only (a) S i Oniy.(b) _ (3) Both - (4) Neither .

22. faerdts sEm S (g, W ‘Gﬁ)wm%m?ﬁam%q

(a) <4 foreror sorcits g Svid,

() ud Juforr favaih s aefio, ‘
@ mmwmwmmwmm o §
(1) (f?t):*'*"ﬁ’T (d)W (2) () @R
B ©) @ s ) w () F@wd |
What are the main objectives of estabhshment of UGC (University Grant Con‘umssmn) ?

N {a) Co-ordination of hzgher education system. o

(b) Enhance the scope of all the educational dismplmes h A -

(¢) To promote education in all the walks of life.

(d) To maintain the standard of higher Educatwn and Research

Answer options : _ :
(1) (a) and (d) only | @ (), (a) and (c) only
(3) (b}, (a) and (c) only (4) Al of the above

THeAT SIHTETE ST /SPACE FOR ROUGH WORK
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23. & N faumite! Sv 9y TR ?
(a) mmmmmamwmwm
YU EEa] T 3R,

(b) mﬁmﬁézggmwmmﬁm HifsrE o 379 THRY 9l it ‘Fﬂ;ﬂ
a@rﬁwmms‘i‘ammﬁwﬁa%a@wﬁﬁﬁa

it I
1) ¥ () 2 ¥ () @ & 4) TR

Which one of the following two statements is correct ?

{(a) National Integrated Medical Association of India is the first NGO to work on Family
Planning in the independent India. .

(b) International Planned Patent Hood Federation however provided financial, technical
and all other help to another NGO the Family Planning Association of India.

Answer options ; . S
(1) Only (a) (2) Only(b) (3) Both {(4) Neither

24, WY T AWHIR fw Yy sfve fufow fafegmy ofae, 2007 =0 smER; ‘Y=g’ W
v Tt TRl ST |

(1) e ad s ond

(@) v TE g nfor o
(3 wx wEd e o a<ia et o
) W, T R e ade e o

As per the Maintenance and Welfare of Parents and Senior Citizens Act 2007; the scope
of the term “Parents’ is :

{1) Only the biological father and mother
(2) Only the adoptive father and mother
(3) Biological or adoptive father and mother

(4) Biological, adoptive or step father and mother
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25.

14 ‘ - T A

wToT fersmTaTeAT e * STl hiveE oISt 19 2
(1) ‘WWWW%WWWWW@W&@W@%

(2) gt et Qi wif srden e WE S ST STer we
U] B YIS e, '

(3) T YRATEE Sl ToaT SaUaie Taa HUCATHIS! SR ST U
(4) T e Rerr TAET A G e R T S SR,

In the context of rural development, what is the meaning of ‘Aajeevika Skills" ?

(1) 1tis a project run by the NGOs to teach rural yoézth handicraft and handloom skills.

{2y 1t is the effort of health ministry to provide people with free medical services for
life - threatening diseases. '

(3) It is one of the initiatives of the government of India that seeks to promote rural
~ livelihood.

(4) Itis the mission undertaken by HRD ministry to teach rural youth entrepreneurship.

26,

HW%WWWW.hWWQmeﬁWW -
R ? - |

(a) Wm@mwmm
(b) RIS HH FHoArE FEe .
(c) i TEvEs S SRy T e | | |
(d) VR (W) Soersa @F uaTH FHara "

AR HIR/HI Faur/ faa s o)/ e ?

1) (a) %= @ @ ® I () ©)wE @) () (o) #vT(a)

The Pradhan Mantri Gram.Sadak Yojana (PMGSY) is a huge central investment in the
state sector as a part of . _

(a) Development of rural infrastructute strategy
(b) Poverty reduction strategy
() Development of rural transportation and communication strategy

(d)  Wage giving strategy . ,

Which of the above mentioned statements is/are correct ?

H @oly O @O;dE @ Goly @ O.Qadd
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27, Rl wiwEed S e dey frad, Sufifs st slwden w9 Soam e 1| o)

Fioredt foraraan oo faetfagl wigd ?
(1) < @ e () e aw
(3) e H @) e

Which philosopher says that when population increases enormously the nature takes
upon itself and makes natural disasters happen to reduce population ?

(1) Dr. Swami Nathan (2} Emil Durkhaim
(3) Karl Marx 4) Malthus
28, ugie i faumite! S S oTe ?

(a) o ifereil 1983 € e 11 SRS HEYURTaR FEaraRoTe g,
(b) ¥ew wiferd! 2002 € HAHTHRO At ST St F dot wemEa sifu quyfierar e,

agid 39

(1) Few @ (2 FES(b) @ & (4)y wwd
Which one of the following two statements is incorrect ?
(a) The Health Policy 1983 drew upon the general ideas of Alma Ata Declaration.

(b) The Health Policy 2002 was less general in approach and made more elaborate
recommendations on strategy and policy.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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29. 2014 =1 W T frdeieTeR wra enfn cre o S wietas w9 wEiE SEd o
HRA :

(1) 1359 snfer 141 3 (2) 1269 Iy 1361

(3) 13597 3nfT 146 &1 () 125 sufr 147 =

As per the Human Development Index, 2014 the ranks of India and its neighbouring .
country Pakistan are respectively :

(1) 135t and 1418 (2) 126% and 136t

(3) 135 and 146% (4) 125t and 147t

30, wErEdE o dree 2001 A8d wraifan e Y awRaren svgea fireorsa geulde  foefem |

(1) Torsn wga G

@ ud foar e

(3) W W i
(4) WWWWW

Which of the following schemes, launched in 2001 is meant to be fulfilling India’s -
‘Millennium Development Goals” of education ? '

(1) Shiksha Sahyoga Yojana
{2) Sarva Shiksha Abhiyan
(3) Saakshar Bharat Abhiyan

(4) Kasturba Gandhi Balika Vidyalaya Yojana

T WIFTETS ST /SPACE FOR ROUGH WORK
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31.

304825
17 | MO6
g A faumils won dvg @R
(@) o dgen st R dey T
(b) ‘o anfor sl yiue-wel gdvors die SR oA,
et 3=

) S (a) (2) *5 (b) @) @d (4) T IE

Which one of the following two statements is correct ?

{a) Malnourishment has nothing to do with the development of brain.

(b) Marasmus and Kwashiorkor are severe forms of protein - energy malnutrition.
Answer options :

(1) Only (a) (2) Only (b} (3) Both (4) Neither

32,

TEETER (e fumide FE e s ?

(a) Wﬁa&aswaﬁ

(b ﬁ%mmﬁﬁm

(c) AR 6S&T SHvrEmEd U9 arfyag awr.

(d) YIETE wey, gt Ifr 3 < sifen ai siferet ot Svam st o,
() AT [ HaE T R,

() e wpgiee st ol ¥ o,

it 3 : '

1) (0 2 @ 3) (© @ ©

Which one of the following statements about SAARC is incorrect ?
(a) Presently there are 8 members init. '
{(b) Tis secretariat is located at Kathmandu

.(c) The issue of Afghamstan joiniﬂg SAARC generated a great deal of debate

(d) US and European Union and South Korea have been granted observer status.
(¢) Myanmar wants to be a full member

(f) Russia and New Zeai__and have applied for observer status.

Answer Options : |

1 © @ @ 3 @ @ M
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33, odia vl T s SRemen (NUPRS) TF HErEl wed s

@) Serforr deay TR T SRS HEA 3.

) Tramo s awrgaE YA Rl RIS SIS O,

(3) <z Wawe w6 vel smie dgwg g syes 19,
(4) THES HTS-9E qE Sfao,

One of the chief components of National Urban Poverty Reduction Strategy (NUPRS)
is: e

(1) Making available educational institutes to the urban.poor.
{2) Making provisions for shelter, transport in the urban areas.
(3) Providing medical facilities to all the urban people below the pdvéfty'-?l'ii:}é

(4} Ensuring slum free societies.

34.

yde < faumitea! Sive gy e ?
(a) mwmmmswmmww aggf%aanwzﬁam

M ¥EE @ e @ W @ wh
Which one of the following two statements is correct ?

(a} Indira Awas Yojana was launched in the year 1985 only for those belonging to
Below Poverty Line and are the members of either Scheduled Castes, Scheduied
Tribes or Other Backward classes. _

(b) The beneficiaries are selected by the Gramsabha.
Answer options :

(1) Only (a ) Only (b) (3) Both & Neither
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19 MO6
et For W e S e Wi 2
(a) AR
(b) Efieided
{c) o
(d) T
it 34y
1) () R | @) (2 (b) 30 ()
@) () wH (4) (o) wifor (d) e
Which of the following is/are the German Originated Indian System/s of Medicine ?
{a) Ayurveda
{b) Homeopathy
{cj Siddha’
{(d) Unani

Answer options :

(1} () only () (a), (b) and ()
(3) (b)only 4) () and {(d) only

36.

wEE 2 faumits! wive gy TR ?

(a) ‘Ieifert werre i Afgen waEiE FEE | TEGUarEl IarEeR] Aige 8 Sresedn
v wveel et o, |

(b) SIfErER WG] AT AT T qEE W 15 TR 2007 Ho s we,

wRidt 39T ; '

(1) ¥ () @ ¥ @) @ T 4 T

Which one of the following two statements is correct 7

{a) Execution of “Tejaswini Maharashtra Rural Womens, Empowerment Programme’ is
the responsibility of Women and Child Welfare Commission.

(b) To be a beneficiary under the Balika Samrudhi Yojana the girl has to be born after
15t August 2007.

Answer options :
(1) Only (a) {2}  Only {b) {3) Both {(4) - Neither
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37, gEe A faamite) wivm g s ?
(a) eI R T wa S, TR SR TeREeE T 24 @ S

'.'.@)__@avmmhmwmm@wmﬁ@mmﬁawmmm
e
W wEE @ wWem @ @ @ wh

Which one of the following two statements is correct ?

(a) Inview of the gravity of the problem of Tuberculosis and in order to spread awareness
about the disease, March 24 is observed as the World TB day.

() In connection with TB it is generally said that cough 1astmg upto a month need not
bother you.

-Answer options :

1) Ony@ () Only® () Both (4 Neither

33,.#@'#@&%(%@%)2&3%%@@&%%@
- Aiefae wRE. mmmmwﬁwmwwam
gafrsaga¥ aR?

() s aifr wAeE 0 (2)  tersraemRe
(3) mmm fq*sﬂzma?rﬁwﬁmw
The Sample Reglstrahon System data (2013), records the mfant mortality rates for the
Indian states. Identify the states from the ones given below w}uch had the mfant mortality
rates of 9 and 54 per thousand respectively :
(1) Nagaland and Karnataka (2) Goa and Madhya Pradesh

(3) Karnataka and Kerala (4) Mizoram and West Bengal
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39.  wel HE T Suier wehe i wrdwn RAS amde. ey anfer sy wRiwT i 9

(o) e st el geam ) Fga Pl e s Fe

"(5)' " e ST ' () e e s v YR
Sy wgskei e TR
F.

it I

e M@ (B () (d)

(1) (i) (i) (v ()

0 @ @ 0 @

@M @ @) @)

@ v ® @ @)

Following are some of the projects and programmes in the health sector. Match them

appropriately :

o m -
e L

{©)
(d)

Projects Programmes
Commissioning of Primary health centres (i} Intensive drive for family
planning

(i) Conversion of health care

Air-conditioning of the hospital
L . delivery system from

/ unipurpose to multipurpose
system '

Setting up a Medical College (i) Mass  health education
campaign '

Establishment.of network of family {iv) Organising family planning

planning welfare centres camps

' Answer Options :

'-.'.-\i_< E

(1)
(2)
(3)
4

@ ® © @

) (i) Gv) (1)
iy vy (@ (ii)
O 6 @
vy (¢ () (ud)
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44,

yrearfter wekatie faave sgaven B wers siad fwfar el e € vgdl O e
anfor arsrel zua foato =36, WeoUs] wor faarr g yoredfren sweda 376w 3R ?

(1) & e Fdha i ToT wERE! Y FerEaeR! 3T,

() & e IR e T get SR |

(3) € A sl U T fam o W gEEiad vsias S,

(4) I ASAER SEEE G WY g, s, 9Ny, VHd TueTe e fae) S,

The Public Distribution System has evolved over a period of time in India; as a system of
management and distribution of food grains at affordable prices. Which of the following
statements is untrue about the system ?

{1} This scheme operates under the joint responmbzhty of the centrai and state
governments.

(2) The scheme is open to all the consumers in India.

(3) The scheme operates through the ration shops which seH commodlties atareasonable
rate.

{4) Basic commodities like wheat, rice, sugar, kerosene are made available through this
scheme.

' 41.
|

a1 faaramdst geet 2015 A wgEE 49 Wmmmmwﬁmvﬁm 2030
el wrey wevarh wiot Sfae el SR SR Ry ?

(a) TSI ATerE ey ¥ 70% X FHI L

(b) T YN[ 25% F FH Foaraet erdtamer Arefa
(¢) o &AUT &g 90%  HH FI,

(@) DT ST HESE 40% 3 T, !

e AR/ o a3 ardae /a2 S __
1) () wH (2) (2) SO (b) B (3) (@) (b) M) (4) (a), (b) SU(Q)

Which of the following global targets for 2030 in relation to child development are. iikeiy
to be set in the proposed world’s 193 governments meet to be he}d in New York in
September 2015 ? : :

(a) reduce new born mortality by 70%

(b} increase immunisation to reduce child deaths by 25%

(¢) reduce child tuberculosis deaths by 90%

(d) lower chronic child malnutrition by 40%

Which of the statement/statements given above is/are correct ?

(1) (a) only () @and(B)only (3) (2), (Mand () (4 (a), (b)and (d)
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42,  HIVRAT R wien fren uRA o WETs vd TEUETE] 5 SO e SR 0
(1) fTeg faam =@
(2) ¢ wiasys HEg
(3) o fearar fodedt wvem wmeRm
(4) Toenfen =0 wudh der =
Under which act the women are given a right to live in their maternal home as well as in
the house of their in laws ?
(1) Hindu Marriage Act
(2) Dowry Prevention Act
{3) Domestic Violence Protection Act
(4) Married Women’'s Wealth Protection Act
43, e S it R e R ?
@) ‘wEd ws ¥ anfeard fawra wemEeh faea. womeea sfeardtn e W
)  90% TR Fet sEidi R AR & TR Sorawt et seen T A
it 39y
1) Fa% (a) (2) %5 (b) (3) &gt (4) e
Which one of the following two statements is correct ?
(a} ‘Khavati Loans’ are the advances extended to the tribals by the Tribal Development
Corporation particularly during the monsoons.
(b) 90% of the loans have been extended to the landless who are otherwise not eligible
for any loan.
Answer option : :
(1) Only {a) - (2) Only (I (3) Both (4) Neither
44. ey Il o w1 oy Al wivel W, Yo At st ot

(1) favamg, e, ynfors Softr gerark

) Tazarg, fream, yrafre sfty Sed

3) favarg, 93, wgds snftr Framam

(4) favarg, wwfda, JeR S0 g |

When we say that a person is morally good, we mean that the person is
(1) Trustworthy, faithful, henest and virtuous

(2) Trustworthy, faithful, honest and hard working

(3) Trustworthy, humility, sincere and faithful
(4) Trustworthy, devoted, patriot and honest

HEE RTUTHIST WA /SPACE FOR ROUGH WORK
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e A e FvR T o ?

() Y% @ fawmg ge & IR TSR STERHES ST ol geT SR ot wu i
weor wrefavgrarEt gamie s AR favaw e,

() U HEH e s 1988 WE gE Fel,
i 36T |

(1) ¥ (a) @ %93 (b) (3) TR (4) E TE

Which one of the following two statements is correct ?

(a) The Institute for Youth and Development is an institute established by the
Government of India in Bangalore which believes in harnessing the potential of
youth to bring about the desired social changes

{(b) The Institute began its activities in 1988.
Answer Options :

(1) Only {(a) {2) Only (b (3) Both (4} , Neither

46.

Wmmmmﬁmm@m?

(a) WMWWWW%WW%WWW
YA Ui M-S A g T SRM-YRr A,

() IewTeiae sHitma & wen ol g R Eeee fHrennsd F Het.
watdt 39v :

_(z) FaE (a) (2) FaSB (b) (3 (4) T TR

Which one of the following two statements is correct about the Alcoholics Anonymous ?

(a) Alcoholics Anonymous uses one of the most effective social therapies-of personal

interaction and not that of group interaction to treat the Alcoholics,
(p) Alcoholics Anonymous was started by the e:x~a£cohoiics in the United Kingdom.
Answer Options : |
(1) Only (a) (2) Only (b) 3) Both (4) Neither

HEAT HIETS WO /SPACE FOR ROUGH WORK
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47. g%t favar gr #t sfemd gEsEl Faw s stvanke S AEEE RS T

UM % T4 WY T8 Fol wiauied w1 o uhe wied il enfer ‘usdly sEm | wemevurEn
T TS |
(1) ST g (2) oEEYAR w2

\ @) e afer (4)  wreTeT e

While Nehru believed that the tribals should not be kept as anthropological specimens for
the intellectuals merely to study them who said “leave them alone” and to follow ‘National
Park’ or isolationist approach ?

(1) ]H Hutton | (2) Vallabhbhai Patel

(3)  Elvin Verrier | (4) MK. Gandhi

48. Wym HH 9W YREHREEE FH AT AR 7

(@) ¥ IwER S iy swEm it aeste & sorma (5 e 59 SR SR
FiTRe cre fool Sna 9 9 SUIRH 9 3O SR SRR T ST TR s, '

(b) msﬁa%ﬂ%ﬂtmmﬁ@msﬁﬁmwm.
v gy .
(1) %9% (a) (2) 9% (b) @) I @)

What is correct about the Prime Minister's Shram Awards ?
' (a) They are given to workmen working in the departmental undertakings and the
» ' public sector undertakings of the Central Government and State Governments only

in recognition of their outstanding contribution in the field of productivity etc.

(b) Between Shram Shree and Shram Vir the one higher in order of precedence is Shram
Shree. -

Answer options :

\ (1) Only (a) () Only (b) (3) Both (4) Neither
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49. 97 earorsn sRfdfaraes AR aee 0 TN I 1 ae Wi FEla e

HITR TEIRITRS Bvareh TR e ?

(a) A, wedl ST WHRTE FEA

(b) FgT HH

(c) vy awfor g Fetg

(d) wETE anf wwe S

wlerde! wio/ o faur/ Y aleT e/ oe ?

(1) (@ v (2) (b)) wH @ @ @EFEQ @) @6 anfer (d)

The ecological approach of child welfare requires shift from a child centred to :

{a} a family, school and community centred focus.

(b) a family centred focus.

{c} a school and community centred focus

{d} a peer group and school centred focus.
Which of the statements given above is/are correct ?

(1) (@) only (2} (b) only 3y @) (5) and (c) (4) (a) (b)and (d)

50. €Y Ya-IREB1 HIE TERE GE Har e ?
(a) TR G FWER B SIS T TS IEAE.
(b) I Ee Holal WG] UL AT TS YA,
(c) Wewiem wd fraais M e 1w S Yeoed wuikdl WaERe S T SFHaw.
(d) SR e SeSTa HeE! Wahe SR T oE TS 8T
e SRy R faer/ Y wET s/
1) (2) ¥ (@) (a) () TR (3) (b) F @ (@) (3
Micro - credit Financing starts with the assumption that the :
(a) the poor are willing to pay low interest rates to have access to finance.
(b) the poor are willing to pay high interest rates to have access to finance.
{c} the poor are willing to repay the borrowed loan abiding all the banking rules.

(d} the poor are willing to repay the borrowed loan with some outside help.
Which of the statements given above is/are correct ?

(1) (a) only (2) (@) and(cjonly (3) (b)only (4)  (a) () and (d)
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51, o761 HEANTEET 1950 Hed GFAEwET ke Rk SREUMET qed g1 ?
(1) T gE e gy ey, e, o T yeer searare ued
(2) el o sl wEt P | |
(3) T W Y@EdE W HEHA
(4) IrgEd TerIEl STYE QHSEE AT TR S 399 gWE WRH
UNICEF's assistance to India for Child Welfare during 1950 was for :
(1)  relief supplies to children in need, skim milk powder, drugs, vaccines etc.
(2). long term social anr;_’z human development needs.
{3) extensive viﬁ.age level nuirition programme,
(4) | community use of appropriate protein rich and ready to eat food.
52, Sy gt st @me W%ﬂ‘ﬂ W%W Tl areRe w ‘5{@&@4& et
e W, e gz-ﬂ‘#r e @vﬁ Heett 7
(1) &, omed 9 | - mamar%a FTAEHT
@) = . WW
The difference between girls born and gziis that could have been born is called as ‘Missing
girls’. Who put forward this concept of “Missing girls’ 7.
(1) Dr. AmartyaSen .. . . (2) Dr Babasaheb Ambedkar
(3 DrGopalan . .. . (4 Padmini Swaminathan
53. WWWWWW T ST At Al e e 2

(1) | faeex e (2) 0 T i e TR
() ¥ fewie C C®@ M'mﬁ

Who from amongst the foﬁowmg 1dentzf1ed the three levels of intervention i.e. supportive,
sappiementary and substﬁute for child’ weifare 7

(1) Milter (3 Hemy ‘\/{ass and Richard Engler

- (3) Mary Richmond - (4) Alfred Kadushin
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54, wrefteriet ghafia Sdsrer aftomy som g2 wivE ?
(a) sIeurEss syfarer sifus waerd
(b) CEEETE @R
(c) ~ wfeat T ifw TEa

 ammm aml il

LEiE

1) TR (@) (2) ¥ (b)

@) AR B)E () @ o

Which of the following factors adversely affect unemployment among the educated
people ?

{(a) Extra concession to unproductive persons.
(b) Privatization of service secior.

(¢} Additional importance to Information Technology.

Answer options :

(1) Both (a) and (b) - (2) Only (b)

(3) Both (b) and (c) (4)  All of the above
55. fafay ToAT qoF FAETATS SR 50 9IRS S FEGT F FOIE Sada Hen s,

FE T i e el

aer R

(2) 47 W g srifereem (@) ufeem et

(b) = WHW - () fesr

(c) Tegeur faferan dew (@) hfm

(d) e s (iv) BN

i I

(@ ) © @
(1) () av) O @
@ @ @ ™ 0
@) () () @ ()
@ O @ G @)
Following are some of the Voluntary Organisations working in the field of youth
development in different states for over 50 years. Match them.

BT

Organisation State
(a) Young Men's Hindu Association (i) West Bengal o
(b) Abhay Ashram (i) Bihar
() Hindustan Milia Mandal (itf) Orissa
(d}y Town club (iv) Maharashtra

Answer option :

@ () (& (d
1) @) ) @ @
@ @ @ @ 0
@) ) 0 @ (@)
& @ @ @) @)

Ll o an o
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56. e snfy fevemer iem wa faew aﬁaﬁhﬁmmmmwwm
(eaawr) Siew w19 gl
(1) e (2) &
(3) TEAR (4) mE el
As per Russel and Hiralal the position of Bhil Tribals as the oldest inhabitants of the country
is recognised by their employment in the capacity of :
(1) Village Beggar ' (2) Village Messenger
{3} Village Labour (4) Village Watchman

57. ufeen wadmen denia g faam Sl wre Fa 19, S IER S A Higei
Wi A0 WY e R, Usel %1 Afgen wrteeeR sl # FEerEt wwet ek, var
(1) wETerE e @ e e
@) e YgE | (4) e

Who gave the following quotation with regard to Women Empowerment, “To awaken

the people, it is women who must be awakened. Once she is on the move the family
moves, the village moves, the nation moves”.

{1} Mohandas Gandhi (2) Bhimrao Ambedkar
(3) Jawaharlal Nehru (4) Indira Gandhi

‘58, ‘“ywforeEr’ ﬁ%aﬁm’rwaﬁw T e e s o

(dy wursrdier sdtan Tiie gHR

Tl HR/Hw faur S st AR/a?

(1) (@) v @ () F= @) @ OQ @) @), 03
A ‘normy’ is a shared expectation of behaviour that connotes :

(a) More specialised set of actions. '

(b) What is considered cuiturally desirable and appropriate.

{c) 1ltis a simple habit of action common to the members of group or community.

{d) They are established ways of acting in societies.

Which of the statements mentioned above is/are correct ?

(1) (@ only (2) (bjonly 3 @ (b and () (4 (@) (b)and(d)
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30 A

anfeawiin wren wfimgw freafrs F@ o . L
(2) TSNS 5N oTTEfed SR,

(b)) S AV 9 S R,

(c) TFTAS 6 =M dig»&g{r;é oo B, |

(d)  STTgR S-S ST ST R 1989 S RN SeohE 8.

et HIUR/Fow /Y aET AR/ A 2

(1) (a) & () () ST (b) T (3) (a) (b) 3“5” © @ () @)
Displacement of Tribals from their, land amounts to:

(a) Violation of fifth scheduie of the Constxtutzon .

{b) Violation of part IX of the Const:tuhon G
(c) Violation of sixth scheduie of the Constzwnon

(d) Violation of the rules of SC and ST Atrocxt:es Act 1989 f

Which of the statements menhoned above is/are correct 7

1 @ 011137 2 (&) arid (b)-OﬂfY' (3) | "(8} (b)'%”and’(é)‘“ @) (@), (b) and (d)

60.

ﬂﬁwaaﬁwmmﬂmwﬁa%awﬁwwwwm*’é

(1) Tt wmfaE wiven wiwE 1980 R 0 U
(2) foad sriawrdts afgen wfteg 1985

(3) <o s e afesg 1995 fafsin

(4) wgFa U wicaen fediade st 40 967 1996 ?Eﬁ* o

- "Women empowerment as a redzstrzbutlon of socml power and contxoi of resources in

R

favour of women” was defined at :
(1) the Second World Women Conference held in Copenhagan in 1980.
(2)  the Third International Women’s Conference at Nairobi in 1985. |
(3} the Fourth World Conference on Women at Bex}mg in 1995

(4) 40t session of the UN ; Commission on status of women at New York in 1996,
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I wrarel 9 weRl’ ur AR w9 |

(a) TUl L T STAHISAT HIEET Sed WIe - ey A 9 vt Sy e,
(by Fyoi Sere wowReE SYtER Hfien sTETeTTS TS 6T hE,

(c) wmmmﬁawmﬁmm

(d) 'gmmwmmmwmmmﬁwm

et o/ wowd fauey/S sala agy/q ?

1 (@ %= (2) (@) ST (b) TR (3) (@) AON() FH (4) (), (b) ()
The ‘Beti Bachao Beti Padhao {(BBBP) aims to address :

(a) The issue of declining child sex-ratic through a mass campaign across the country.
(b} The issue of women atrocities through social awareness across the country.

(c) The issue of school drop-out at the primary level across the country.

{(d) The issue of malnutrition and adolescent pregnancy through social education across
the country.

Which of the statements given above is/are correct ?
(1) (a) only (2) (@and(b)only 3) (a)and(c)only (4) (a) (b)and(d)

62.

mmwﬁwmmmmmm AR ?

1 fgem - o Age uivww sEEE
(2) wueA - e R
- (3) wrE - T g

(4) Fhats wwd

Which one of the following is correctly matched in the terms of objectives of the Nehru
Yuvak Kendra vis. a. vis their programmes ?

(1) Development -  Youth Leadership Trg. Programme
(2) Organisation - Non formal education
(3) Awareness - Social Service

{4) None of the above
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63.

- 1973 1 WARTE I FHIOET FHed T Fa 7

(1) @rfee (2) wirsfaurd @) JausfEs (4) wESE

In 1973 which project was started by Baba Amte in Bhazz‘zragad for eradication of
malnutrition, education, training in agriculture and wildlife protection for Madiya Gond
Tribals ?

(1) Anandvan (2) Lokbiradari (3) Navsanjivan (4) Lokjivan

64.

e @7 faamiiet Ho atew ong ?
(a) WHSIE Wi qod ST WHITS FHET 31 W yreqeae«! g,

(1) 9D (a) AT IR (2) 9B (b) A TR
(}3) O (2)d (b) 9FT IR (@) (a), (b) O T AR

Which of the following two statements is correct ?

. {a) Moral values in society and social problems are interdependent.

o {b) . For stébﬂity of moral values in society upto some extent there is a need for lawless

behaviour.
Answer option :
{1) Only (a) is correct. (2) Only (b) is correct.

(3) Both (a) and (b) are correct. {4) Neither (a) nor (b).is correct.
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65, g ‘swwie gai ferdt-2000" W Wﬁ.m @YX A ? 5
(a) wraredr 52% featen savem 18 =0 wu snd foaw g swd, @erd W @ snedard
61% SR,
(b) SEIEE SefaaRNE! 45% aTEtaars TRaT g
ot I |
(1) ¥ (a) (2) %@ (b) @ (4) T
What is not frue as per the UNICEF's ‘State of the world’s children-2009 report ?
{a) 52% of Ihdian women are married before their age of 18 rising to 61% in ruraf areas.
(b} 45% of the world's child marriages take place in India.
Answer option :
1) only (8) . (2) only (b) {3) Both {4) Neither
66, HTEFIEE Sire TR E1 TIET STHUATETE] o YHIHIHERE, O Sreeed W S

TRATITEES! VI S SIS S 1984-85 TR W 80 gE el ag. wifdfvsren
(1) THER e SFHR TR TR

(2) T SEERE HAEH TFE TATT TEHR

(3) S L3 SvME I WU YRER

(4) ATAHT BIOTAE & |

To create healthy c(;mpetition among the libraries towards building goed stock of books
and rendering satisfactory, qualitative library services to the public, Government has started
giving awards to the Best Libraries in each class of Libraries from 1984-85. The award is
named as "

{1} Namdar Gokhale Utkrushta Granthalaya Purskar

(2) Dr. Babasaheb Ambedkar Utkrushta Granthalaya Purskar
(3) Dr. C.D. Deshmukh Utkrushta Granthalaya Purskar

{4) None of these
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67. aufey sew

1)
2
3)
4)

'Wmﬁmﬁm&w

snfeard! oo g9emTe, TS

I F R, HER T

Identify the logo :

1)
2
(3)
@

Directorate of Art, Maharashtra State
Directorate of Maharashtra State Education
Directorate of Tribal Education Maharashtra State

Directorate of Knowledge Centre Maharashtra State
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68. wfee st € s wRdw e s o fae wor W 1954 W wefl. s
24 TSI WEEET YE el ST T NS TR 9190, A FEEHSE SorE! HE @ ST 7

(a) < e faesht A9 wwie Sirewyd 9 foen 9wl § anoE Ade & wrfeae aem
TS TR S 25 U e WS g Gl STy ST

b) T v e o 48 arg 3 s o snfar e e 23,

(1) *% (a) (2) w9 (b) @ R ()

Sahitya Akademy is the Indian National Akademy of Letters. The Akademy was founded
in March 1954 The Akademy recognises and publishes books in 24 languages. What is
also true of the Akademy ?

{a) Tt maintains a unique multilingual library in New Delhi and similar libraries at its
regional offices at Mumbai and Banaras having books in over 25 languages.

{b) It has its Project Office at Shillong for promotion of oral and tribal literature.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
69. g wgwd sy fogw wearer ylesrEh sy ey Hfeey e ofs
—. STER |

(1) 1962, 1890 (2) 1965, 1809 (3) 1967, 1889 (4) 1969, 1889

The National Foundation for Teachers’ Welfare was set up in ___ under the
Charitable Endowments, Act,

(1) 1962, 1890 (2) 1965, 1809 (3) 1967, 1889 (4) 1969, 1889
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70. SIS Ses ;
- A - B
(a) I semmEn A ) 08 (4)
IV G GERN
(by T W (i) 22 (B)
(c) wftres wresii smo=n (i) 01 Q)
TEHR (F6M)
uufet 3=y : _
V) (@A), B-6)-C), ©-0-C)
2 @-0-4), ©-i-B), ©-0)-©)
@) @-G)-(B), (b)-1)-(C), (o)-(iii)-(B)
@) @GERHB), b)-(D)-(O), (9-[1)(A)
Match the columns : _
Group A Group B
Name of the Award Number of Awards
~ (a) Mahrishi Badrayan @ 08

Sanman Award for
young scholars
(t) Bhasha Bharti Sanman ({H 22

{¢) Certificate of Honour (i) 01
~ to distinguished scholars

- of Classical Tamil language |
(New) |
Answer options ¢
D) @-0)A), B-EHC), ©-0-O)
@ @-@-A), B--B) ©-6-C)
(3)  (@i)-B), B-0)-C), (©)-ii)-®)
@) @-i)-(B), (0)-(ii)-(C), (I-(EH)-(A)

_?1“&1{@9% (‘gméaa):

% 25,000 (a”ﬁifis o
{1 e ()

- Group C

Amount

- (A) X 1 Lakheach (one time)

®) < 25,000/ L_ (Annual)

(C) %1 Lakh éack (Annual)
T 5 Lakhs each one time
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71, WA 6 s favafaaed snde, Ul wEr sifea (AR fawafiaes w® e S
- Tavafaemerd anga. o Revafaarraiaeg w1 @Y o©7?
(a) s () Rrvafremed gon, il T 33 i Seafea Fwm,
(b) el foreaforarer depd wie mf‘ga FATE T,
trahﬁ':-m’r |
(1) F9% () @ - % () @ = @ =
India has 6 language Universities, of which soowe are deemed to be Universities and some
Central Universities. What is true of these Universities ?
{a) Deemed to be Universities are for the promotion of English, Hindi and Urdu
~ Languages. .
(b} Central Universities are for the promoﬁoﬁ Qf_Sanskrit Lénguage.
Answer options :
(1) Only (a) (2) Only (b (3) Both {(4) - Neither
72, e O faumite SR Ay AR ?

(@) fu- ﬁiﬁﬁmﬁmmﬁmmm

(b) . mwmmmmwmwmwwa
S wren B,

- ___m_w;_ | | |
@) e @ e ) @ ¥ @ wAT

Which one of the following two statements is correct ?
fa) Pre-matric Scholarship is a scheme for the Tribal communities.
(b) The scheme plays a role of level playing and of empowerment through education.

Answer options :

(1) Only (a) (2)  Only (b) (3) Both '(4) Neither
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73.

qeter 2 fauriteE! FIvE Erg AR 7

(3) UG FNE fawmg Temes FEwE @wﬁ ARG F1 &%

(b) TG IR fgHw TEHes W?f gt TETiAE Wea as“{?f

it @ .

(1) %@ (a) 2) Faw (b) (3) <= 4) T
Which one of the following two statements is incorrect ?

{a) National Skill Development Corporation functions as a Public-Private Partnership.
{b) NSDC also supports private sector initiatives.

Answer options .
(1} Only (a) (2) Only (b) {3) Both : (4} Neither

74.

& U FIALER. W ary T ssred faeor degin fasiia wee st stem
3. 2013 9o & Fell el i fady wga (anr aniea TSEimiE 65 ¢ 35 o YHIvE
anfin fodia safen Tatefiar 90 : 10 =51 wToNe) HEE AT i,
1) TEEE (2) FRWTEL  (3) WITEL (4 IRIWHEY

is a CSS, launched in 2013 aims at providing strategic funding to eligible
state higher educational institutions. The central funding (in the ratio of 65 : 35 for general

category states and 90 : 10 for special category states) would be norm based.
(1) SSA (2) RMSA 3) NASA (4 RUSA

75,

wreterta R/ Hd fra) e e s/ ee ?

(a) Ty wfosaa ferenel e, ofen okw o 11 o uRgT vesgeR Feronda vty wie/

Wmﬁm@mmm mmmmwﬁm@mﬁm

1.4.2007 wrg WA Fedt e,

{b) 11@%%Wﬁmmammwmwwmaa
forerere} o g Fefl o

ugid Iav ;

(D) (a) snftr (b) A gH R 2)  (a) e (b) D2 SR kA

(@) () R (b) ¥ IR @ (@) TF R (b) TR R

Which staternent/ statements is/are correct from the following statements ?

{a) The National Merit Scholarship Scheme, the objective of which was to provide
financial assistance to Meritorious students studying from Post-matric to Post-graduate
level in Government schools/Colleges and Universities has been discontinued with
effect from 15 April 2007.

(b) A New Central Sector Scheme of Scholarship for College and University students
has been introduced during the XI Five Year Plan.

Answer options :

(1) {a) and (b} both are incorrect. (2) (a) and (b) both are correct.
(3) (a)is correct, (b) isincorrect.  (4) (a) is incorrect, (b) is correct.
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76. I e

M-A T-B

(a) - oIfED wiftw werde S dewistar TR () e R e

. (b)- T =R () T A den
(¢) T ¥ v (i) Fra TS e
(d)*"#q:q;:wmm:;mﬁ '

@b © (@

@ @) @ @ @

@ 0., @ @) 6

@ 66 @

@ O @ O @
.- Match the colummns :

Group - A Group - B
| : Nameof ihe Award | - Organisation .
“ (a) Awaﬁ_‘ds to Hindi Authors (i) Kéndriya Hindi Sansthan
-+ of Non-Hindi speaking States
(b) Shiksha Purskar (i} Rashtriya Sanskrit Sansthan
(c}) Hindi Sevi Sanman : (1)) Central Hindi Directorate

(d) Presidefitial Award of Certificate
of Homur for Sanskrit, Pali
s A_nswei: t;pt”i.t.::,ll;xs -
@ e 0 @
M @ @ 6 ©
@ 0 @ @) @
G O @ @ G
@ O @) O @
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77. Tédmed 9o wox @ wlvarard e wifve oeardie faameaten forsrgeten
draden SEelaE EiF ] faumidE wod s g ?
(a) ammmw%ﬁmﬁwmmm
(by Uwa wreren R Rrefaomen 3 99 B w3 arfaerd ok e e I SdeaT a9R
FUIRTE .
i} 3y )
(1) F9% () @ %@ (b) @ @& () TR

Which one of the following two statements about the objectives of the Scheme of
Scholarship to students from Non Hindi speaking states for Post Matric studies in Hindi is
incotrect ?

(a) To encourage the study of Hindi in Non Hindi speaking states.

(b To make available to the State Governments suitable persons to man teaching and
other posts where knowledge of Hindi is essential.

- Answer options :

(Iy Only (a) (2) Only (b) (3) Both ~ (4) Neither

78. e 4 A o farene g oy 2
(a) eirey foraerara awior wRTdier TEITEIEY 75% SRS S,

(b) Teew FaaeEE oy S o SR SETER SRR 15% 8 7.5 TR SIRE
arHa.

it g

(1) ¥ (a) 2) FE® (b) (@) o @) wHd
Which one of the following two statements is correct ?

(a) The percentage of reservation for rural students in Navodaya Vidyalaya is 75%.

() The reservation for SCs and STs in the Navodaya’ Vzdyaiaya is mvanably to the
extent of 15 and 7.5% respectively.

Answer options : :
(1) Only (a) (2) Only (b} (3) Both (4) Neither
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79. Qe O famEiiEt SR gy e ?
(a) UETT wrerar R 15 - 35 aERTETde TEET S A .
(b)  TETEAT AT ST WA T WA SR 127+ SRS Ok WIeR ) e YAR
40% TETEN BT,
(1) ¥ (a) (2) %S (b) Gy T (4) U A
Which one of the following two statements is correct ?

{(a) National Literacy Mission imparts Functional literacy to neliterates in the age group
of 15 - 35. '

(b) By the end of the 10th Plan the NLM had made 127+ million persons literate of
which about 40% were females.

Answer options :

(1) Only (a) @) Only (b) (3) Both (4) Neither

80. mewmﬁwm%wmﬁm%mw
_;o&masmzemnﬁ Wz feefl, @1 WeimeT vy W Nl ?

(a) TSI AT SRS T AT VIR FRUR e SR weehd HUaurd SO e
(b) W E TR TR YRS B YEEH FOAHE AR H,

e

(1) 9% (a) () aB (b) @ IR @) e A

Prime Minister Mr. Narendra Modi visited Japan on 30 August - 3 September 2014 on his
first official visit abroad outside Indias immediate neighbourhood. What is not true of the
visit ? '

{a) Japan agreed to cooperate with India in development of Baroda as a smart heritage
city and

(b) to rejuvenate Ganga and other rivers.
Answer options :
(1) Only (a) 2) Only (b) (3) Both (4) Neither
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81. , ity qI=R GSFT I HOAR, TR T
THIU-TS YUERR YEF S0 U IR 1958 el ge el Ae,

(1) & o, %= (2 e, e, oRie

(3) wepd, fEd (4) e T

A Scheme for the Presidential award of the Certificate of Honour was introduced.in the
year 1958 to honour the scholars of . and languages.
(1) Hindi, English, French (2) Sanskrit, Arabic, Persian -

(3) Sanskrit, Hindi, French (4} None of these

82. e A Fruritat R dea omd?
(@) W§M@W%ﬂ%@ﬁm@a%ﬁamwmﬁmﬁ%mm
(0) W§M@Wﬁmwmﬁwﬁﬁmw
1) ¥S@E@ () TS Q) @ =& @
' Which one of the {-oiibw'ing two statements is correct ?

(a) Vedanta e-Shiksha @ schools is 2 PPP model 1mpiemented in coordmatxon with
‘various state governments.

(b) Vadanta e-Shiksha is outside the Sarva Shiksha Abhiyan Scheme

Answer options .

(1) Only (a) (2) Only (b) (3) Both '_ (4) Neither
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83, S W :

(@
(b)
(©)

M- A
AT

g-araIen

gl §-wew

watd} 9uY :

1)
2

@

@

@ ® ©
CRNURE
O @) @
@ @
it T

Match the columns .

(a)
(b)
(©

Group - A
Acharya

e-Pathshala

Innovative e-content

Answer options :

1)
2)
3)
(4)

@ ® ©
@ 0 @
O @) 6@
@ @ 0

None of these

43

)
(i1)
(i)

()
(i)

13

MO6

TE-B

ieTH e e

TR EITATE 99 gheamm
[ IESE STAEFAE FAVEH

Group - B
Integrated e-content Portal
In Four Quadrant Approach -

A Gateway to all Post Graduate Courses
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84. wrefle FHEEy wyre siel wfad Saw ?
(a) wdtAzus, sy aem wew
(© s =t g
gyt 3=y
(1) 33| (2 HEm
The following programmes are run under :
(a) NPTEL Engg. Media Content
(¢} A -View Virtual Classroom
Answer options :

(b) Toar Warg
(@) e g

(3 =

(b) Talk to Teacher
{(d} Spoken Tutorial

(@) wdE T

(1) Vedant (2) Sakshat (3) NUEPA {4) None of these |
85. e firemr wrdsmamen __ wfa wE

() W (b) EE R

(€ Wiy fawm (d) e fwor

Tl 3 : : .

OREONCROELLIC () (a) 30T (b)

@) (@), () () | @ (a) = ()

Adult Education Programme includes :

(a) Literacy _ (b) Basic education

(c) Skill development (d) Life education

Answer options :

(1} (a) {(b). () and (d) (2) (a)and (b)

G) @ (end() 4) (a) and ()

86. Tdiw am e SR oRiNg A ?

(a) EEER I HIOR AR gE e,
®) 1e+mzaﬁaﬁmwﬁaﬁ50%ﬁmﬁmmﬁmﬁrmmmmmﬁm

| Sl 1986 7 wafdd,
yaidt 9
(1) %9 (a) 2) %9 (b)

(3) o

Which one of the following two statements is incorrect ? :
{a) Operation Black Board Scheme was introduced at the instance of Kothari

Commission.

(4) rza»’étm'e?f

{b) 50% students at the 10+ stage should be diverted to vocational education was
suggested by National Educational Policy 1986.

Answer options :

(1) Only (@) (2) Only (b)

(3) Both

{4) Neither
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e ww fawrg waeran feder 2002 78 wRE WU WS e ST e U
aruTfiE, o S, wsw ol eunia avaeiar doien adur ahdEn fwm w1
amfor gfersromes qorasiTed YHROT SUATE HOAN FURT JSEed 56} w0 o,

() dwamiF. ) dAdsmmwd. @) Aimgemd @ weamdEAl

The Ministry of Human Resources Development launched in December, 2002 the

' which aims to upscale and support ongoing efforts in improving quality of
technical education and enchancing existing capacities of the institutions to become
dynamic, demand-driven, quality conscious, efficient and forward looking, responsive to
rapid economic and technological developments occurring both at national and

‘international levels.
(1) BAIET () TEIQP (3) TEQIP 4) AICZ*Z“E_

88.

WA urs ferendiy st wma afvrr Forardd safor

1 633 2) 6,472 3) 6,24 @) 6,51

India has language Universities, out of which ____ ° are Deemed-to-be
Universities and . are Central Universities.

1) 633 @ 642 @ 62t @ 651

89.

WMWQ@M(I@N@U)W wmwmmﬁmﬁ
forargd® yae w0 TR, 91 SEfaEd wE ¥ R ?

() W T e TG, ﬁmmmmmﬁmmammmm
¥ T8 &gy arde.

(b) ﬁmmﬁqﬁa RCCISNERAEE T ‘HW@W@%E Wﬁmm

) m(a) T wEw ) @) W @) wwd @

The Indira Gandhi National Open University (IGNOU) has been making conscious efforts
to reach out to the girl Eearners especially in remote rural areas. What s true of its

Tactivities 7

(@) The setting up of a New School, School of Gender and E}eveiopment Studies with
. the aim of achieving gender justice and equity.

(b} The School designs and develops academic programmes and courses at
undergraduate and graduate levels.

Answer options :
(Z) .OnIy.(a) (2) Only (b) (3) Both 4y | Neither
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e S FuitE S A a2

(a) ﬁ@aﬂmwwawmgm%wﬁww
ST T 9,

(b) w0 ATRF YuH HIEE .

watdt ey . o

(1) 9% (a) (2) & (b) @) = (@ TR

Which one of the following two statements is correct 7

(a) The Directorate of Art (DOA) was established in the year 1969 for handling all art
institutes and colleges of graduate and post graduate level in Maharashtra.

{(p) The First Director was V.N. Adarkar

Answer options : ' :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

91 HRR WG € SIS gata e 9 e wrfE o o geur w9y w2
(a) W HEFHE e 70 AN We 2017 THd WER A 1R,
®) mxsaﬁa%wwﬁsa%%m@mwa@amm
(1) W (@) 2) FE (b) 3) = . @) R
Sakshar Bharat is the world's largest literacy programme What is not correct in this
connection 7 '
(a) The programme aims at making 70 million adults literate by 2017.
(b} Only about 53% of India’s population over the age of 15 can read and write
Answer options . o '
(1) Only (& (2) C}nly ) (3) Both . (4) Neither

92, et < Tt @l dvg e ?

(a) WW&WWWimmzwwm

(b) mmﬂ%waﬁé—mmﬁammmﬁnﬁmwm

it e

1) FE@ @ FE) (@) = (@) w

Which one of the following two statements is correct ? SR

(a}) The right to children to free and compulsory education act has come into force from
15t April 2011.

(0)  As aresult of this right every chxid in the age group of 6~14 will be provided 9 years

of elementary education.
Answer options :

(1) Only (8) (2) Only (v | {3) Both - {4} Neither
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93. e e
MT-A TE-B
() wHRistima ¥ sfe () vea I atwgee gl
(by w=a el e (i) cATEEaE ST SR Hedrat sTarn
| fegor
(c) wWdishiva =t dfred (i) Tereqomrear gwita guwon

(iv) I HTTE et
(v) el foaromee s sRoarardt seares
i) Jufrs duwfe fomafa fvmash o wer

HIG,
g S :
G (b) (©
1) ) &) B (1), (vi)
@) (), (v) @) @ ()
@ @), i) @OAv) (@) ()
@ @6 @ O
Match the colummns :
Group - A - Group - B
(a) Objective of NPEGEL iy Dropout giris

(b) Target Population/Beneficiaries (i) Vocational and Life - skill education |
{c) Unique features of NPEGEL (iii) Improve quality of education -
' (iv) Working girls

(v} Incentive for girls to attract them towards
education

{vi} Reduction of gender gapin education sector
Answer options :
@ (b) ()
(1) G Gv) @) (i), (vi)
2y () (v @6 6O
@) @) v @) @)
() @) @ GGy) ) (Vi)

HeeAT TMEIE WA /SPACE FOR ROUGH WORK

P.T.O.




MO6 48 A
94. wou Afyaifye) weritrerard v fufbs stfugariad pERS: , 4T &St
' ued grelt, sumed yeomeRfar venfya diesn wrdvie enfonr gty

STETET ATIY ST ST,

(1) - AeAyRY, 1847, TR, R T
(2) WERTE, 1847, W, R TEEd
(3) I TG, 1847, I, IO T
(4) Teeet, 1847, fasstt, s aow

“The first engineering college was established in _ e IRV - for the training

of Civil Engineers at which made use of the large workshops and public
buildings there that were erected for canal. o -

(1) Madhya Pradesh, 1847, Indore, Upper Narmada

- (2) Maharashtra, 1847, Nashik, Upper Godavari

(3) Uttar Pradesh, 1847, Roorkee, Upper Ganges
(4) Delhi, 1847, Delhi, Upper Yamuna

95,

mﬁaﬂwaﬁaagﬁawﬁéﬁﬂzsﬁ faamh | ERTCT Y yaw fea

Eici

(a) e Toremerg (b) eIcH o

(© O T () o saPE v
o ot o o |
gyt 39 : _

1 ®) <)@ E | 2 (@ ) @« @

3 @ o) e @ @ o (&)@ by ) (9

type of schools admit at least 25% students from the disadvantaged and
economically weaker groups.

(@) Kendriya Vidyalaya (b) Navodaya Vidyalaya’

- {¢) Sainik Schools -+ {d} Unaided schools

() English Medium Schools

Answer dptians :

(1 G © @ @ 3 @)@«
(3 @ ©®)© @6 @ @ ®) @@
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96. weel gerfer foar %3
() we e gfremed 28 3w wowr ama
(b) fersls @ qAfE gfETn a3 oE
(1) (a) ST (b) TR ST
@) (o) Tk R SR (b) SR #R.
(3) (a) TR T (b) Y& .
(@ () snfer (b) < % o
Consider the following -
{(a) At present there are 28 member countries in the European Union,
(b) Switzerland is a member state of the European Union
Answer options : |
(1) {a) and (b) are correct
{2) (a) 1s incorrect and (b} is correct
(3) (a) 1s correct and (b} is incorrect
4 & and. {b) both are incorrect
9. e ¥ A T qof g we. i T e
(1) ¥, TR (2) W, e
(3) W, IrwY (@) e, sfemm
and are the biggest and the smallest countries in the EU -by surface
area respectively. C
(1) Spain, Luxembourg (2) France, Malta
3) Germany, Cyprus | (4) Sweden, Belgium
et HIHETS! A0 / SPACE FOR ROUGH WORK
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98. (a) HEH AN, 2005 ALY FACT THA HE,

(b) Waqmmwanﬁzsaﬁamméwgaw

(©) WWW&%WWW%WWWW&%W
3Tt TEeT FrBTeTd STEE Wi,

(@) R R e e e

WIRATSN  Figford TERTaR SRE FeT - 2005 ' wrea adadet womt faum we oed ?

1) () & () 2 (a) ofT (b) (3) (a) onf1 () @) (c) o (d)

(a) The Act was passed by the Parliament in August, 2005.

(b) The Act came into effect from 26th October, 2006.

(c) The Act ensures that the first hearing would be held within 10 days and the case
would be disposed of within 90 days.

(d) The Act is enforceable in the whole of India.

Which of the above statements are true about the ‘Domestic Violence Act - 2005 of
India ?

(1) (a)and () (2) (a)and (b) 3) (a) and (d) 4) (9 and(d)

99. AW W7 2004 Wl v A= Rdrearne W(ART}W@@WW@W
el Prrdtaadt v @ R, YEiet d fruraite wiv ardevfa srdve e ?

(a) e ST forr it Sifreh TR e UEVIF SRl 39 R,

(b) G 1999 TR THAME/ TS FREHIE WW/@WW%WW
ITH1 B YT 3L,

m‘ﬁﬁ‘: N
(1) 3 (a) 2) Fa% (b) 3 (@) e

The trend of annual AIDS deaths is showing a steady decline since roll out of the free Anti
Retroviral Therapy (ART) programine in India in 2004. Which of the following’ two
statements is incorrect in this connection ?

(@) India has the third highest number of estimated peopie hvmg with HIV in the World.
(b) Since 1999 there has been a shift from HIV/AIDS awareness to behavioural change

Answer options :
(1). Only (a) (2) Only (b) (3) . Both (4) Neither
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100. @refedst SR faum adew T8 ?

(1) WRAEIE e SHRRTe Tosamie SviEm (1975 - 77) = T fise.

(2) Wmﬁ <fer woas, WW%@WWWW A,

@) Toweq gfrm ok fofee foedia sive g Tdeme sorom sramvenst el e,
(4) T FISRY } 1984 T 1986 W Hred fyuey gfva wR fafwa faadios sreay 2.
Which of the following statements is not correct ? _ |

{1) Human Rights movement in India got momentum after emergency (1975-77)

{2) Peasant struggles, Dalit movement, Environmental movements are parts of the
Human Rights movement.

(3 Peopié’s Union for Civil Liberties and Democratic Rights was established by
Jawaharlal Nehru.

(4) Rajani Kothan was the Pres1dent of Peopie 5 Umon for Civil Lzbert}es from 1984 to
1986. '

101,

mmwwm@m
&&WWE@HWW Wﬂhm@%‘m@%m?
(a) S e e e e S s ifen R

(b) wﬁamﬁwwaﬁmmﬁ(zowwmﬂswgﬁ&aaﬁmmm_
GERE R et cc e ki M

miﬁl’t:

n ¥FE@E Q@ FE (@) @ @) T
Tobacco i is a massave kz]ier, killing haif the peopie who use it.

' What is.also true in thls connectmn ?

(a) India is the largest consumer of tobacco in the world.

(b)  Asperthe report of the Tobacco Control in India (2004) more than 8 iakh peopie die

due to tobacco consumption every year in India.

Answer Options :
(1) Only (@) (2) Only () (3) " Both (4 Neither
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102, WIHEAR @reitericht o Fona e s ars fogdeeor @ 9w 2

(a) FqY (b) snfE

() afeor sdft (d) s

(e) WA qd-anfiran

v Wt fraret

M) (@) (0 3 (d) 2) () =l ()
3) (o) oW () @ () (@) v (o)
Where is Female Genital Mutilation concentrated ?

(a) Europe . {b) Africa

{c) South America {d) Austraiia_

(e} Middle Fast Asia

Choose the correct option :

M (@) ©and @ @ ®and
(3) (©and(e) - (4)  (b), (d) and ()

103. ' AT <EEd’ Fed el v faum siet e ?
(1) 39 1946 78 ' Tl <mreran’ <t s St
(2) I AIEEE 15 Y S
(3) mmu‘twm vy geg 9 wyfe A,
(4) ud arndd frae Teew FA,
Which of the following is not correct about the ‘International Court of Justice’ ?

{1} It was established in place of the ‘Permanent Court of Justice’ in 1946

{2) It consists of 15 judges -
(3) The tenure of a judge is of 9 years
(4) All the judges are elected by the General Assembly
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104. 2014 oy TrTeh faera FrdwieT wewia Sl ®4
(a) famg @ 0.891
by wwnEE () 0.901
o) WH (i) 0.888
d) <faor e (iv) 0.890
T 9T
(@ ) (¢ (@
O @ @) @) @
@ @ @ v ()
@ @) O @ @)
4 v @ @ i)
Match the following as per Human Development Index of 2014 :
(a) Singapore iy 0.89%
(b) Israel ' iy 0.901
{¢) TJapan (i) 0.888
{d) South Korea {iv) 0.890
Answer options :
@ ) (g (&
O @ @) @) @
) @ @ @v
@ @ @ @ @
@ av) @) @ G
105. T grEl gaE ST
(a) Hrryiea FY IR SR wRurT $ET U el
(b) TR T gaes ARTTEGE FwoErEedTear faerR s afadned R aeense
¥ ewauadie fods var Y wwEy SR
(c) U et g FEmee wael awr f{, uet fhur vl sameAde srssar
wftfererdier Hoendl wHa s v
Tty AEt ga sptesren wlie faumitet S faun sder e ?
1) (a) 30fT (b) @ {BywHR (@) (oww @ (o) 3 ()

The National Human Rights Commission (NHRC) can :

{a) involve voluntary organisations in investigation process.

(b)  the committee which recormmands persons to be appointed to the NHRC comprises
amongst others the leader of oppositiont from the Lok Sabha only.

complaint to the NHRC may be in Hindi, English or any language in the 8% schedule
of the Constitittion of India. _

Which of the above statements about NHRC are not correct ?

(1) (a) and (b) (2)  (b)only 3) (c)only

(©

4) () and (@)
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106. ‘it sTfasr W srfufiram 19557 warde e afie gmfve 999 fofer @ ?
(1) efardiym (2) T v
(3) srEyvEa (4) @A T

. Which of the Indian antisocial customs is eradicated by the ‘Civil Rights Protection Act
1955° under the Indian Constitution ?

{1) Bonded - Labour Tradition (2) Child - Marriage Tradition
{3) Untouchability (4) Sati-Pratha

107, Wﬁwﬁwm
() ‘Eruw ferie’ é%w%ﬁam@mﬁmﬁmm
(b) _@%2014%%175&%%&%%@

(c) varen 100 §=Y 38 1oy T,
(d) 175 ) %?r{m 85 a1 i fere
() Tooerds wream fraust R,
(6 wrmfern greew et dR,

aliede o e sraa s/ e 7 |
mo @@ ee o
Consider the statements about cormption ‘

(a) Transparency International’ is an institution measurmg corruptzon in different
countries. T

(b) The institution studied corruption in 175 countries in th__e_-yg_ax_.:z{)}ti_,
(¢) India obtained 38 marks out of 100. S
" (d) India secured 85 rank amongst 175 countnes
(e) Switzerland is the top mdsf .
(f) | Tﬁe bottoin Ixﬁost is Somaha
‘Which of the statements given above is incorrect ?

m © @ @ ® & @0
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108, (a) U TR S =gt TG SRy sifuei o
(b) TEAEREHR $&1 <Aars] q STmeiiesar §aa siel =Ired v #7a.
(c)  TourEER fagR STel e T w.
(d) wdT OEl §a ORI (R U SRR s afw s e afwer
el #<a =1 STt frum e o afeelt wda ang.
- gRarde AEE gaw RITAerEEEd Fadw! S faan e ara ?
1) ®), © ) @) @ @, @ (@) {(a). () () (4) (@), (b) (9
(a) State Governments are empowered to establish such courts.

{b) State Government establishes the courts with the concurrence of the Chief Justice of
the High Court.

{(c) State Government establishes the courts by notification.

{d) For every Human Rights Court, the State Government specifies a Public Prosecutor
or appoints an advocate who has been in practice for not less than 8 years.

Which qf the above statements are true about the Human Rights Courts in India ?
(1) (b)) ) (2) @ ()« (3 @ 0@ @) (@), () ©

109, TAEE FeERE A aﬂm&ﬁ%i’sﬁmu&%@sﬁﬁﬁmﬁmgﬁﬁm@@mﬁ?

(1) Ffraw deames Dfew geerstady qefam T oo a9 s s 1946 - 1950 He=
HeayE! g

@) A% P I weAiEeT 8T e durierieeT wia fi fief
(3) e s Frareerean wlafi gfws wRfER Hew dar 9.

(4) =0 wFE e

What is not true of the UNICEF created by the United Nations General Assembly on
December 11, 1946 ?

(1) Ludwik Rajchman a Polish bacteriologist, is regarded as the founder of UNICEF
who was also the first Chairman from 1946-1950.

(2)  UNICEF solely relies on the contributions from the various Governunents and private
donors.

(3} The Executzve Board is made up of representatives elected by the United Nation
General Assembly.

(4) None of the above.
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110, Grere s SR H&7 sa¢ fog .
(a) TR TaTTA 1967 AEA TR,
(b) it 2001 < wftwe gAE A weh,
(c) e T AT T e I
(d) uiEaR St afbee g 39 R

i Sy _

(1) (a) ST (d) = AR, (2) (o) 00 (b) ST IR
C(3). (b) I (d) wde AR, () o 9% anda.

Consider the following :

(a) ASEAN was established in 1967.
- {b) ASEAN summit of 2001 was held at Brunei.
(¢} India is a member of ASEAN since the beginning.
(d) Central Secretariat of ASEAN is at Singapore.
Answer options : S
{1) (a) and (d) are correct (2) (a) and (b) are correct

(3) (b} and (d) are correct = (4) All are false

111, ‘siwogy sfis gues’ saen fariear fer w5
() ‘SHRUSTS i duzy’ W e i aerand gl
(b) geawden & TezETe e gl |
(c) forelt &% snfor Sfgee * frenr@fegar sfiRAmea” g wevar sl omde.
(d) ‘ommEsl’ e wfsarara ‘s sfiw sl o,
(e) o= wftrmror &g wimwsd oI
e wrord faum b s/ enda ?
(1) (a) 3T (b) @) (o) 3 () @) () s () (4) FE ()
Consider the statements about ‘ILQ’ [International Labour Organization].
{a) It has been established as a result of treaty of Madrid.
(b} In the beginning it was attached to the League of Nations. .
{(c) - It's aims and objectives are specified in the ‘Philadelphia Declaration’.
(d) The secretariat of ILO is called “International Labour Office’.
{e} Its training centre is in France.

" Which of the statements given about is/are incorrect ?
(1) @and(®) - (2} ()and (e) 3) (a)and (e (4) Just ()

T SIS ST /SPACE FOR ROUGH WORK
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LT e g sTarTRa Y e [Eie fyvrite! wiv fau® wetel onga 2

(a) UL ure) g srareR Pyt WS fraw aee e aw e e o,
(b) v SyemeTE S FeErE] THVE G T B,

() ¥ sfaenfre @om aR.

(@ . ETTede & e ok sreay A,

i Ia | ‘

1 @3E 2 @3 @) @ @ (@ afiE

‘Which of the following statements about the National Human Rights Commission are

wrong ?

(a) The protection of Human Rights Act 1ays down the rules for appointment to the
NHRC.

(b) The chairperson and the members of the Comuission are appeinted by the President
of India.

(c} Itis a Constitutional body. :

(d) Justice Venkatachaliah was the first Chairman of the Commission.

Answer options :

O @ad® @ GadE @ ©md@  @® (@ end@

- 113.

e 9 g, e (W A) wE e a7

(2) T TR BT, |

(b T TE STEATHTI ﬁlw%@f

(€ YRS HIHE T SYTe FET T,

(d) YE® gk arfor A s,

(e) et areera /T,

() e TEmaH g,

g I ) -

W © @ @& ® @sti@ @ ®
What is not an objective of the Natzonai Book Trust, India (NBT) ?
(a) to produce good books. © "~

(b)  to encourage the publication of good books.

(¢) to make books available at modetate prices.

(d) to arrange book fairs and exhibitions.

{¢) to maintain exhaustive libraries.

(f)  to make the people book minded.

Answer options :

1 «© @) (o () @and(@ @ O
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114. ‘Ifw’ (vge el swore Sesfeasa fret) Semen a0 Fe 9 s o vew ot gy afE

(a) gfrdwen widdd Waw mﬁé\ﬁa HETH F. (1) 1946
(b) ‘FHEE € IE e FE e . (i) 1953
(c) eIt ‘ sty snfYr ‘ srrsforera’ § wisg Tmed, (i) 1989

(d) SrerTeA gerk o HRATEreR e dyeRr Tsgio e Wifae.  (iv) 1965
wald s '
@ ® © @
1 @ @ @ @)
2 @) @ O @
@ @ @ @ @)
@ ) ) v) @

Maich the facts about UNECEF {.United Nations Children’s Emergency Fund ] with the
years in which they happened :

{2) UNICEF awarded the Nobel Peace Prize {H 1946
(b) It was established bearing the Title "UNICEF (i) 1953
(¢} Terms ‘International’ and "Emergency” excluded from the Title (i) 1989
{d} Responsibility of implementation of children’s rights entrusted (iv) 1963

to it by the General Assembly of United Nations.
Answer Options :
@@ M () (4
M o @ @
2 @) v) @ @
3) vy () () (i)
4 @) @) (v) @
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59 o MO6
aﬂ%’wg@afﬁmﬁ&ammﬂﬁ?
(a) [ TEET WU, T, Tod, et e 9 aagsien g6
() o T e T T .
R
(d) ?@Wm{zgm@r{awmwmﬁ.
(e) .'.WWMWWWMWWWW%WWW.
ot 3wy

M © @ @ @ @ @ v
Which of the following statements about OPEC is incorrect ?

(a) The original members of the organization included Iran, Iraq, Kuwait, Saudi Arabia
and Venezuela,

(b} Later nine other members joined it.
(¢} Its headquarters first at Geneva Switzerland was later shifted to Vienna, Australia.
{d) Indonesia, Ecuador and Gabon left the organisation

{(e) OPEC does not raise the crude prices without reason and without consulting oil
producing companies, :

Answer Options :

M @ 2. @ (3 (e (4) None of the above

116.

T weRe EaOTS S ¢ STER genee’ € Weew aie SRfae Sevaeret eheg iR

1) e gew 2) TR gREEE e

(3) TR (4) =l o

‘Amnesty International’ org;cmisation is working in the field of ‘Human Rights' for : -
{1) Releasing war prisonars (2) Struggle for Political Rights

{3) Prison improvement (4) All the above

e SIMATE WA /SPACE FOR ROUGH WORK
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(a) TS EEETA AIAE WIERARAR THU 30 HeErY 3Nl

(b) FEH TETER FE fiferea, TaTesareT mﬁrﬂ%mﬂm 3‘4’1’%&? 3?F%
gt 3¢ o

(1) (a) 3nfvr (b) s A, (2)  (a) S0 (b)fa?&- I aﬂ%a.
(3) (2) TR (b) 7 M. (4 ()0 (a) TF R,
Consider the following statements : o

(a) There are 30 articles i in the Universal E}eciaratl{m of Human nghts
(b} As per article 5 everyone has the nght to Ilfe, hberty and secunty
Answer Options : - -
(1) (a) and (b} are correct (2} (a) and (b} both are wrong

(3) (a) is correct (b) is wrong - (4) (b)is.correct () is wrong .

118,
(a) ER %ﬁmm&mﬁWMwﬁm

“gfiyor sufverd wgeRed W' (westhe) W?&Wﬁmw |

(b) EIOAT 3. 2000 98} wOUE e
() I, TFHEA, 5 ST FCRT TH. LY, F AT 37T
(d) wmysHE F e sofs fawm= o,

gfertst Sor faud sdarama?
@ @ © @ S (@) e (b) S (c:)
(3) Faw (o) sufer (d) @) wd e

Consider the statements regarding SAGQ. [South Asian Growth Quadrangle]. 7%
"~ {(a) SAGQ has been established by SAARC.: -

{(b) - Kt was established in the year 2000., _ : oo N
(c} India, Pakistan, Nepal and Bangladesh are members of the SAGQ
(d) The objective of SAGQ is economic development. =~ s
Which of the statements given above are corfect ?

(1) (a), (b) and (d) (2) (byand (c) only

(3) (c)and (d) only (4) * All

=T HIHTEE W /SPACE FOR ROUGH WORK
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119, W= Uy AreYSR ST Sy S ofald westre wduraniieg Cwse e
Frograr At fegren sR 2
(1) &em 129 (2) wEW 12 () ®EH 12% (@) wOH12%

Under which section Indian ‘National Human Right Commission’ has been gwen power
of "Suo-mote” Enquiry against a public-servant ?

(1} Section 12 B {2) - Section 12 A (3) Section 12 C {4) Section12D

120. T 27 faumite] FivR by e 2 |
(a) Feoivme wiufe aifw ¢ Yo wivst e faareiend 1864 7l wo. Yewig Tamiw
(b) YEHIE TSR]/ TSH HEFEAE Yafe,
gty 3w : '
(1) 9@ () (2 ¥ (b) @ 4
~ Which one of the following two statements is not correct ?

(@) The International Committee of the Red Cross was established in 1864 at Switzerland.
The Red Cross attends to the (war) victims and the victims of the natural disasters.

(b) They also organise HIV/AIDS prograrmunes.
Answer Options :
{1) Only (a) (2) Only (b) © (3} Both (4) Neither

121, & SR (SfaEy 9 FEwa) s 1986 3w RN ol He ?
(ay Tt 7 gwER 8w ARG W by Sfafea 92 wm (e owEn)

(¢) 3arwie wwa 9 FW (d) Tasidfeiar 1 aw g faus

waidt s : - -

(1) wd @ @TFwaE @) @It @ (@), b
What are the prohxbztzons imposed by Child Labour (Prohabztwn and Regu!ation) Act
1986 7

{a) Work between 7 pmto 8 am (b) Over time working

(c) Work for more than 3 hours (d) One hour interval for rest

Answer Options : |

(1) all (2) allexcept(d) (3) (@and(® = @& ({a), (b)and(d)
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122. wreftatst svd/ o faym/faem st o/ ey ?

(@) e Flawl QA @iy AT Sfeere e gaR S g 1992 W TS
EoECiEat TR] AUl RIS FEFAET Iq80 IR, :

(b) et ol wigg Fad S At 2007, st s <ol feRm T Y 65 oY
@l wed adggiwia sritaa aee o,

(©) @WWW“WW”MW%@%ﬁmﬁ%wﬁW
Fﬁm@é‘mw?ﬁm@m7mﬂﬁam

it gAY
1y T (a) @) (), (b) 3T () (3) (a) sfor(c) (4) ™ (b)

Which of the following statements is/are correct ?

(a) Objective of an integrated programme for older persons implemented since 1992 is
to improve the quality of life of senior citizens by providing them with basic amenities.

{(p) New National Old Age Pension Scheme for all persons above 65 years of age,
irrespective of their economic status is being implemented since 2007

(¢} UN defines a country as an ‘Ageing Nation” when the proportion of elderly
population over 60 years of age reaches 7% of the total population,

Answer Options ; _
{1} Only (a) | (2) (@, Mand &) (3) ) and () (4) Only (b)

123. MWW FHAT FREAN HaviE 4
(a) Ty =] SavamE ﬁmﬂﬁﬁﬁ
(b) TEERl/TEER G0 AHIET 3.5% SR
i I |
(1) (o) F 2) (b) ® @) & (4) T
Programme for the rehabilitation of the handicapped includes :
(a) Scholarship to pursue education '

{b) Reservation in the Govt./public sector to the extent of 3.5%.

Answer Options :
(1) only {(a) {2} only (b} {3) Both {4) Neither

AT HIATHES WA /SPACE FOR ROUGH WORK
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124. geiettent sivren foyrmdt /i< goed o=l AR 7

o

()

T, WWWWWE@WWW T R w0, e se g

Sufisr w9 w0t fafeg o,

G}'& arfererao) e adt, aferar, il shervea wd wiar wel = fowmn, fwm,
Eﬁ, aﬁ*ﬁa"f HIGERT A1 YT g 39 .

(c) T@Eﬁ&ﬁﬁﬁﬁﬂi%‘é*ﬁ?%ﬁﬁﬂ 61 11 58 sErERIT 75% fera arersmid! Agul 8o &
a1 wErede wd <fer et wgon d, w da.
qatdt 3 ;
(1) faurE (a) 0 () 7 GERd T R,
(é’) | W@)ﬂégﬁnﬁﬁa@.
(3) - © ﬁémm I,
(@) e e g L

Which of the following statements need correction ?

@

(b)

(©)

The vow given by Dr. Babasaheb Ambedkar to his foiiowers, forbade them from
stealing, telling lies and committing carnal sins.

Dalits are segregated inall spheres of socxai hfe piaces of worsth, education, housmg,
land ownership, though not officially. S

National Policy on Education 1986 aimed at univérsal enrolment of 75% dalit children
in the age group of 6-11 and enrolment of all the children in the 11-14 age groups.

Answer Options :

1
(2)
(3)
(4)

Staternents (a) and (¢} need correction
Statement (b} needs correction
Statement (¢} needs correction

None of the statements needs correction
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125, ¥ A1 (HAL) wied H WY et ?
| (a) foret T 1978 WA wrel,
(b) o ST st qerHRIe e,
(© & gEiEe au T @ snfde weread .

@ gz frofye, 93 oy, 9g wereh, FET g9, ifefedsn gaarrde 3¢ wifad
SR,

© o g S e 3 o ar deen wrEE S s = R g
O fr qem T ket 39 o,
(g) oo vmen qad, Sy, s, fowell, Jaueic o wEME 39 R,

W‘f?ﬂ'w: .
a  ® 2 @
G (@ (@) e =

What is not correct about Helpage India (HAI) ?

(a) HAI was established in 1978.

(b) It was born out of the initiative taken by the British charity.
(c) It attends to the elderly people and also undertakes funding.

(d) Theaged include destitutes, the aged blind, the aged leprosy patients, the aged cancer
patients and the aged patients in the geriatric hospitals.

() It helps __individuais and also provides funds to the organisations working for the
elderly people. -

(f) s head office is at New Delhi

(8) Its branch offices are at Bombay, Bangalore, Calcutta, Delhi, Hyderabad and Madras.
.Answer Option : |

@ ® @ @

(3) (e (4) All the three above
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126, 3TgEa SHRTERET H wony) gufas dew .

(@)
(b)
(©)
CY
(&)

vt enfamemdt e v, el fred

frafirt snfearstt weam wuew, el (atsg)
T fmrds (UsTeT)

g firem, ot

Tt I

1)
2)
)
4

(@), (&), (d) faer =y SRy
(©), (), (e) Faem g angq
(@), (b), (d), (e) Fawrt 2t =nda
(@), ®), (c), () Taems = e

Prominent Organisations working for the scheduled tribes axe :

(@)
(b)
©
(d)
(©)

Bharatiya Adimjati Sevak Sangh, New Delhi

The Nilgiris Adivasi Welfare Association, Kotagiri (Tamil Nadu)
Samatol Foundation, Mumbai

Banasthali Vidyapith (Rajasthan)

Ramakrishna Mission, Shillong

Answer Options :

®
@)
(3)
4

(3}, (b), (d) statements are correct
(), (d), (¢) statements are correct -
{a), (b), (d), (e) statements are correct

{a), (b}, (c), (d) statements are correct

T SR §HT /SPACE FOR ROUGH WORK
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(b)

(@)

(b)

©
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127. 390 sqad! ofae 1995 TOR (THEH IRY R JRE 7

e SR e WU, TS 9 SR 9a e Uil Meravars | §
fewauarg waae &

3T =afa s qerees a7 S T ST A dueain ad wEra gl

() rdn sufn wien wriftes, dogarisd, gfgmagss, uwfas fhar amfie wmaformdsn
weifege TRTa TEravary g o e wrEE Jeva wa w,

i I

(1) (@), b))

(2} FH ()

(3) THFH (b)

(4) FH (a)

What is the aiin of Rehabilitation as defined by Persons with Disabilities Act 1995 ?

Enabling persons with disabilities to reach and maintain their optimal organisational,
structural and functional 1evei§

Providing financial assistance to NGOs, working in the field of rehabilitation of the
disabled persons.

Enabling persons with disabilities to reach and maintain their optimal physical,
sensory, intellectual, psychiatric or social functional levels.

Answer Options :

(a). (b) and (c)

Only (¢)

Orly (b)

Only (2)

FoT HITSN ST /SPACE FOR ROUGH WORK
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128. WW%W&W@WMW&%& FIoTeT FAER adE i e

TS €16 ? ,
(a) W= g™ fwmﬁfaa"r 3fae 1994
(b) Terme widw S siwe 1987 |
(c) Hem %a*z 37ae 1987 |
() s wifge site fem ofae 1992
AL T WA U HAE HETOT PG HIOIN HE
@ ® @ @ @)
@ o) @ @@
®) ) © @ @ &)
4y @/ ®) () d) @), (b), (), (d)

Which of the following legislations contain rights of the disabled persons and which provide
safe guards to the disabled persons ?

(a)
{b)
()
@

(1)
2)
()

@

Persons with Disabilities Act 1994

Legal Service Authorities Act 1987
Men}tai He:alth Act 1987

Rehabilitation Council of India Act 1992

Acts containing rights Acts providing safeguards

®) @ © @
o), @ @ © @
BO@ @6
@) ), © @ @ 6,0 @
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129,

@t&ﬂaﬁaﬁ HOR/FoE faum/ faum ataT s/ ke ?

(a) Wﬁmmmmmaﬁﬁmmaw
3.

(b) vl wrerT S Rardrert wEteraren s fem el miwd 9 srifea omE.

() oireifirer swdier aret Sei Sardre soferaren sran e vaieh wfedt 30 srifira s,

(dy mﬁﬁmﬁwwmmmmmmmm
weist et 30 eifi SR,

T ey

() +9% (a) (2) %as (a) S (d)

(@) F (), ) () 4) ¥ (a) S (b)

Which of the following statements is/are true ?

(a) It is obligatory for all the Public Sector Units to register thelr vacancies with
employment exchanges,

(b) Entire Private Sector is also expected to register their vacancies with employment
exchanges.

(¢} Industrial Sector Przvate Units are expected to regzster thezr vacancies with

_-employment exchanges. :

(d) Those non-agricultural Units in Private Sectors having more than 25 workers are

expected to regxster thexr vacancies thh empioyment exchanges

- Answer Options :

(1) only a) (2) only (a) and (d)
(3 only@ (and(@ (4 only(@)and(b)

130.

Trtor grier wfiger o sierehiaT (@™ (DWCRA) S19d 1 @Y T 7
(1) & doF g 1982 We wsfars wH fasre (IRDP) Srlwwee q e,

() andrsREr 9% A wﬁ%mwmmaﬁmmmmm

I R,

\__(3)_ mmmmmﬁmm (0-6 a¥) = wigai (14453%?&%@3*@&&

Ao,

(4) ﬁmmﬁﬁﬁwmwéﬁammﬁ gra Tafae W

What is not correct about the scheme of Development of Women and Children in Rural

Areas (DWCRA) ?

(1} Itis a scheme launched in 1982 as a subscheme of IRDP :

(2) It focusses its attention on improying the economic status of women by creating
opportumtxes for i income generation activities

(3) It also aims at improving the survival of young children (0-6 years) and women
(14-45 years)

(4) It focusses on women beiow the poverty line everywhere all over the country.
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sryfea SaEiEE! wern I Feen deada a9

(a) Wowe a@igE (b) gy it yfme 5
(¢) EEQd! S HEa (d) Fafnero | !
M) (&), () T (d) Frem A s 2) (), (a) TruR A oy
() (a), (b) fr (d) T =g snia 4) (a), (b), (c) Tarur T amea
Centrally sponsored schemes for Scheduled Tribes include :

(a) Girls’ Hostels : “{b) Research and Training

(¢} Aid to Voluntary Organizations (d) Technical Education
Answer Options :

{1) (a), {c) and (d) statements are correct (2} - (b), (a) statements are correct
_ (3_). (a), (b) and (d) statements are correct {4) (a), (b), (c) statements are correct

132.

Wmmmﬁarm %ﬁﬁwm qqA, memmﬁsﬁum

""Wﬁt?ﬂm?

(2) BMSHINTUC- Wﬁﬁﬁ%ﬁﬁgﬁﬁ mmﬁmma%ﬁﬁiﬁﬁmwmﬁﬁfﬁtmh
(b) CITU R AITUC - WWWWWW
(¢) HMSTBMS - 399 9 yroifes yrards = sl fadem srEam.
(d) aﬁaaa‘ém‘qw mmmmmmw

_(1) (a) 2) (a) ST (b) 3) ()3 (o) 4y W (d)

" Which of the following Central Unions are involved in various activities such as organising

unskilled workers, lobbying for Iegzsiahons to unprove their workmg c:ondmons, wages
and social security ? :

{a) BMSand INTUC - are involved in lobbying for ieglslaizons to lmprove thelr Workmg
conditions.

(t) CITU and AITUC - are involved in organismg unskilled workers

‘{¢) HMS and BMS - are involved in work related with wages aﬁd";s’ociai security
{d) all the above central unions are involved in the above _cited various activities.

Answer Options :
L @ (2) (@) and (b) (3) (byand (q) (4) Only (d)
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S Infn w RS e w1 9 ? |

(a) wiigs T S qTEERiHRET TR ARG WiITe | Wi wean

() TG e wode W

() wEgs A gEEEE gau

wids: .

1) @ OFNE (2 FHEE @ @afE) 4 (@ e

Which of the following are ensured and are under the purview of the Maintenance and
Welfare of Parents and Senior Citizens Act 2007 ?

(a) Need based maintenance for Parents and senior citizens and their welfare.

{b) Protection of the property of senior citizens

{c) Keeping senior citizens in the old age homes

Answer Options :

(1) @ (band) (2) Onlya) (3) (a) and (b) (9) (a)and ()

134, yEie! o faur wOe A ?
(o) el T W wees) SR, Hfed efen awiien Hevi $ 9, mm-@a
(b) a&m&ﬁmm(mfmﬁmvr)mo% mmgﬁmmﬁwww%ﬁa

Fa,
(¢) WA g1 W 1927 & ST TAET 1980 4mY (Y ST SR |
it I | |
O @ 2 @ ® © @

~ Which of the following staternents is nof correct ?

(a) Proposed Equal Opportunity Commission was supposed to address gnevances of
the deprived groups.

{b) Sarva Shiksha Ab}uyan (Educaﬁon for all) 2000, focusses on marginalised children’s
.+ education.

{c) | Indian Forest Act 1927 and Forest Conservation Act 1980 contain rights and safe
guards for scheduled fribes.

Answer Options : )
1 @ 2 O @ © (4) Nome
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135. et € fasrsident sho@ e e ?
(a) SICTHIHIAT HEATTHIST 15 werd! Frwa gurmst o A w8, fin 2 sfaen
(®) 15 werft FrdEmR Y/ Wt sreqdeinta fashy frar s geen Yvaw anen,
waidt 3t ;
H ¥eE@ @ e @) @@ () T

Which one of the following two statements is correct ?

(a) The 15 point programme for the welfare of the minorities was formulated as a Prime
Minister by Mr, V.P. Singh. :

(b The 15 point programme advised giving special consideration to the minorities in
the recruitment

Answer Options :

(1) Only (@) (2}  Only (b) {3) Both (4) Neither

136, (a) 37 =R (S WheEs) B wEer Svarene TP e s v .
(b) s ST (e aﬁra;%:). Wﬁ@ﬂﬂwm st o
(c) TS Tyl fasmreren Hegfem & fadiy o Sireden oo, wu e 9.
AT F PR i -
1 = @ @ame @ GFMQ @ @A

(a) Mental Health Act was in application prior to the enactment of the Persons with
Disabilities Act.

(b) ‘Leprosy cured” are also covered under the Persons with Disabilities Act.

{c) Incomplete development of mind of a person which is specially characterised by
subnormality of intelligence, means mental illness.

Which of the above statements are correct ?

(1) all () (a) and (b) 3 ®Hand(g @ | (@) and ()
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137. Y TEHOTE JEEE! R i guen sguad! . .
(@) HIw PgI UG e
(b) I B A SRR FY) AFRIH
(c) Haowle Qs Hou saase
(d) wfeeri TFOHE SRS SToar ad e
i =y
1) (), (b) FuT Frg AT
2) () (), (d) faurd I wEa
(3) (@) (b) () faem A amea
@) (a), (b), (d) faurd == aga
have together caused serious problems for the aged.
{(a) The disintegration system of joint families.
{b) Rapid industrialisation and Urbanisation.
(&) Changing social values.
{d) Increasing proportion of women going out of home for work.
Answer Options :
(1) (a), (b) statements are correct
(2) (b), {©), (d) statements are correct

3) (a) (b}, (c) staternents are correct
{4} (a), (b), (d) statements are correct

138, () 60 T oY e SEAder srafie o gom srqont e, ¥ Ranie S

FR IR,
() gavEd =@ul W HArh e YT Wl S Sean, aagsi o iRed A
HRE HA FAMIG Tt I,
T faumrle Fi e JeaT, ﬁaﬁm@m&m’?nﬁ%aﬂ%?
(a) Toum & () wefte QR = sewfifaren fowmoft Jufits
(b) Taum % (if) Aefte gl = Wi sesmen fosmof wret s
(¢ faum = (i) 7w qeet="hra S Yo das 4 FHmom
it S
(1) FH (b) (2) R (9 () 3 (4) W (a)
()  Accidental deaths by unnatural causes among the persons aged 60 years and above
is a cause of concern in India.
(i) Abuse of old persons is grossly under reported in India as it is often regarded as
public affair not to be discussed with others.
Which words in the above statements need to be replaced in order to correct them ?
(a) Correction in staternent (i) =unnatural to be replaced with natural.
() Correction in statement (ii) = public affair to be replaced by private affair.
(¢) Correction in statement (if) = grossly under reported to be replaced with correctly
reported

Answer Options :
(1)  Only (b) (2) Only () (3) (b} and (g) (4)  Only {a)
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ST E

(a) i faea s () 1986
(by  wrEresr et wefta ardtor Jeem e wrEer (i) 1947
(c) & HHIR (yirEy g fre) s _ (iiiy 2005
(d) =R FHIR (Frmm g fee) sem (iv) 1970

it g
@ O (9 (@
1 @ @@ @ )
2y @ (v @@ @y
(3 @) @) (v @
4 Gv) @) @ @
Match the following :
(a) Indusirial Disputes Act
{b) Mahatma Gandhi National Rural Employment Guarantee Act
(¢}  Child Labour (Prohibition and Regulation} Act
{d} - Contract Labour (Regulation and abolition} Act
Answer Options .
(@ { () (@
1 @ @ @ v
@ O (v @ @)
3 @ @) () @
4 Gv) ) @ @

MOe6

() 1986
() 1947
(iiiy 2005
(iv) 1970

140,

T TR EIeieis! BIoe giawn e s ?

(a) g e e wfts amfer @ g

(b) EHTE T 3 FE-YiG FuUTE gIAd

(¢) Yeore ue Wel/ uIMEY TeHre] rEn 50% goe

(d) T e sdane sy s

gy vty fae

1) @I @ @O0 @ OOd @
Which of the following facilities are provided to the senior citizens ?
{a) Senior Citizens Saving Scheme Account in Indian Post offices
{b) Income tax rebate upto ¥ 3 lakh p.a.

{c) 50% concession in all mail/express trains

(d) Reserved seats in state transport buses
Choose correct options :

(1) (a) and (d) ) @ ) 3 ®) () (D (4)

@), (b), (). (@)

(@), (b), (), (d)
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141. TEfeds! s ey g T guws Fad de deeE e ?

(@) R et A T T

" (b) %wﬂmwﬂeﬂawﬁmﬂwm

() 65 aTaET SR AT TR I SR

(d) wfcararie Feamde sEd O e

wafd 5o

(1) (a) A () @ @G @ @@ @ (b) 30 (c)

Which of the following are not the features of the Indira Gandhi Old Age Pension
- Scheme ? _ '

{a) ltis nonfcqntz-ibutory |

(b) Only cmzens from rural India are ékigibie :

(c) Citizens abqve 635 years are eligible

(d dﬁy cmzens belonging to BPL families are eligible
Answer Options :

(1) (@ and (g (2) () and (d) (®) (a) and (d) @ (b and (g
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142, el EE
. R
(a) oo Rl em/ A foekd
Juarard/enavararet weEm
(b) Tereae sron geedwR 99

(¢) TSI S WIS 4/ SR
(@) g giy fegaflifed sfaeen
STrErasel ST e
gty 3

(@) (b} () (d)
U @ @@ @) @
@) @) @ G ()
@) @) ) @ @
(#) Gv) () @ @
Match the following :

Scheme

(a) Assistance to disabled persons for
purchase/ fitting of Aids/appliances

(b} The Deendayal Disabled Rehabilitation (ii)

Scheme

(¢} Incentives to employers in private
sector providing employment {0 the
disabled

(d) Scheme for implementation of Persons (iv)

with Disability Act

Answer Options :

(@ (b (9 @
1) @ @ ) 0
2) ) @ @
@) @) v) @) )
(4) (v) @) @ )

MOeé

Aar
Hrerseq o wwes ofeet 3 oy
3 ) U anfir 3w T wW o e 2
T ST o FHIAT Fehoail el

- HlBrY

AR g7t
Tafae S oo yeweisn g R
wd Y sAavia

Service

Govt. makes payment of EPF and ESIS
for the first 3 years on behalf of '
employer

Funds for projects to make

building barrier free

Physical rehabilitation

Covers all aspects of
rehabilitation and projects
covering various services
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143, Fram Sa F, 1948 Geut Eefatet SR/ fum/T et oy o ?

(a) T FTRIE YES 9 i AR $ENE L

(b) e WIS W & urees e frdwiwat e o

(c) e WErE sy Al i o e e W

g Aty frae

1 @afe @ GIQ @) @ ORNOROELIC
‘Which of the following statements is'/ are correct regarding the Minimum Wages Act, -
1948 7

(a) There is no discrimination between men and women under the Act.
(b) The Variable Dearness Allowance (VDA) is based on the Wholesale Price Index.
{c) The VDA is revised three tirnes in a year. .
Choose the correct option : _ - o ,
M @ad® @ O;d@ @) OyE @ @ GadE

i

144, T TR IRYE R, 1092 SR e
(@) e e e 9 e w0,
(b) YIS UISTHREER SIS S,
o) yrEwT =y sivem 39,
(d) TAEET TEHH SVl SN Aar 98 0.
M @ o) © @ @ © (d) - @ ® 0 @ (@) F(@)
The objectives of the Reha}nhtatzon Counc1E of Ind:a Act, 1992 are : a
(a) Standardising and Monitoring rehab. professionals.
by To frame syllabus for rehabilization courses
(c) - Training for rehab. professionals

(d) Granting recogmtxon to mstzmtes mnmng rehabzhtahon courses

Choose correct option :

0 @t @ 66w @ 000 (4). (a) and (c)
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145, weladsl SR/ fuar/3 sdar sng/a?

(a) 2011 =1 SFOHTER, WA 2.68 ®Iel Tk 9T IR,

(b) @ egv ehEgEdde yor 3.5% .

(c) wou-form s =iy TOER 3 : 1 3T,

iy S : | |

1) (a) fer () (2) ™ (a) (3)  (b) 1 (c) @) (a) ¥ )

- Which of the following statements is/are correct ? |
() As per census 2011, there are 2.68 crore persons with dis.abiii_ti_es inIndia.
(6} They constitute 3.5% of the total popuiaﬁozx.. |
- (¢) Ratio of male-female disabled personsis3: 1.
@3@ Options :
(1) (a) and (B) 2) Only@ . (3 (Mand( = (¢) (a)and(c)

146, e STV SR Treerds) S0 29 T 2
(1) TR TR T T,
(2) EHEIS! g, T ST oS I A F
(3) TEHTe TaaTRoIRAI Weeli HEs T,
(&) oo el s FEEn A w0
Which of the following, is not the object of the Consumer Protection Act ?
(1) Protect the rights of the consumer,
(2) To grant an effective, inexpensive and speedy remedy to the consumers. *
(3) Establish consumer councils to protect his interests. |

{4) To reduce the burden on the regular courts of such cases.
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147, TEs wwasd fed w s e ?
(@) mw_m-wmmmwwmzsa 10 ST TR - & T 400.

(b) v TSt @ e fa s wftedel TEE SR € 50 T ¥ ?z@z’ran% H
T 3000.

HIVR T 1R ?
(1) FE (a) (2) %ES (b) @) <= (4) TR R
How much fee is required to be paid in a Consumer Forum ?

(a) For a total value of goods or services and the compensation claimed of ¥ 5-10 lakh -
' Amount of fee payable T 400.

{b) Fora total value of goods or services the compensation claimed of ¥ 50 lakh - 1 crore
- Amount of fee payable. ¥ 3000.

Which is correct ?

1

(1) Only (a) () Only (b) ® Both (4) Neither

148, UTES GO HIAE, 2005 FHR ST QG ey, arder fben fedtem fudharprefter quviiema st
YT AT TR TR HE HEa TR 99w Wt Y Sigh Tweeea
ERGICT) MACIACIT)

) 10 fraw @ 20 femm @) 15 feaw (@) 8 fEw

As per the Consumer Protection Regulations Act, 2005 if there is any defect in the filing of
the complaint, appeal or revision petition, the particulars of such defects shall be recorded
© and the party shall be informed of the defects askmg for removal of the defects within

(1) 10 days (2} 20 days (3) 15 days (4) 8days

HEEAT HTITATS QR /SPACE FOR ROUGH WORK

M




A 79 MOe

149. TS wagor sifufran 1986 TrewE sfven Wi 9 Sieafed s | 9@
e faumite wivg Iy eTR ?
(a) e A, AR awE fHevarR
(by fedt &, =T YodarEd |
() Suers SN, Ty T fafay g

(d) 3w W, | FrEifaes

(e) &, urgw fagw

() wfed) o, wreT= e/ qrRs e

gt 39 ; )

1 @ @ @ R G 3 @) 0o T T

The Consumer Protection Act 1986 promotes and protects the rights of the consumers
and provides :

Which of the following statements is incorrect 7

{a) to be protected against marketing of hazardous goods.

{b) to be informed about the purity of goods.

{¢} to beassured access to variety at competitive prices.

(d) to seek redressal against unscrupulous exploitation.

(e) to impart consumer education.

(H  to be informed of the potency of goods.

Answer Options : : ' ' _
1 (@ @ (e 3) (B {4) None of the above

150. wéiw € faarids Som gy g ?
- (a) ﬁwuﬁm@w&wﬁaw@m%mw%%mmm&mm
.
(b) WWWWWWW%WWWBW

) asaa @) 2) ¥ () @) & (4) Twd T

Which one of the following two statements is correct ? '

(@) The admissibility of a matter in a District forum is to be decided within 14 days of
the receipt of complaint.

(v}  The setzure of the commodities has to be mformed to the concerned consumer court
within 48 hours.

Answer Options : o _ _
(1) Only (a) (2) Only (b) {(3) Both ~+ {4) Neither

~00o-
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©®) wfasns foufee o fafre wrie w9 wm (W@ 99) =R, vegirsfiies Swufee o
T FFRIE Fe ®W A O HT FArE SN O o, I UMY TS 9 SR IAERET
IR SR o Hrdeied Born TR wiiey wtvares sfafm-s2" yde wEdTeR R
WWﬁﬁ%W%WWWmmWWWWM
o . '

©) wm%mmmwwmammmwm
" Srww wWvEE gEreh s muﬁmwmwmwaﬁwﬁm_mf
TrANETEE 7 IO W ST A .

WY B

. 3. 201,

_ AT W9
201wl e e SRS B Yo e $82
1) T T T : @ Frave fraarn
@) T W | (@)  TITEEES ES
T A S (3) T TR T o R AR A yEe TR (3)" e aray
WIAHATS T 5. 201 TS SW-%E ()" ¥ age io SrEifhe e et e
. _

ONON RO

ST WA QT TRy Sew Y QU SUCHAIS ¥ gl T g
TAMHTIS 1w YEndEEnde et o ivd orife e Srgaren. greler
wET WIEAT IS WTeld TR, &f‘-’aasamé%ﬁwm#& '
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